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BRIl & 2w 7 015| RAF HE 60 77| FK 23 30

gRILT P 21 W 8 005 | h5<Y | HE 57 14| B4k 4 29

gRILT & 21 W 9 009 | RF HE 72 49 [ 4K 14 29

gRILT & 2w 10 006 | ho<Y | BfE 56 17| Bk 5 29

gRILT & 21 A 13 009| RA¥ HE 55 55 | FlK 16 29

gRILT & 2 » 44 009| RA¥ HE 42 45 [ Fil4K 13 29

gRILT i 21 A 16 005 | h5<Y | BE 57 18| FIK 5 28

gRilT i 2 A |17m 009 | h5<Y | HE 59 33| FK 9 27

gRiLT i 21 A 19 005| RA¥ HE 72 35| FK 10 29

gRilT i 21 A 21 007 | h5<Y | BE 67 28 | FK 8 29

gRILT i 21 A 23 016 | RA¥ BHE 62 102 | B4k 30 29
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gL 1 2|% 45 0.05| 2% HE 63 32 FK 9 28
gL 1 2|% 53 0.35| 2% HE 46 189 FI4K 56 30
gL 1 2|% 55 0.87|A¥F B 46 470| B4R 141 30
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gL = 2|1 4 0.17|R¥F HE 61 109 4K 32 29
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gRiLT i 2|1 13 0.07| A% HE 60 45 FK 13 29
BRIl & 2|1 14 0.1|R¥ HE 52 59| B4k 17 29
BRIl & 2|1 15 0.56| A% HE 53 333| Flk 99 30
BRIl & 2|1 16 0.12|h5<Y |EE 57 43 FK 12 28
BRIl & 2|l&  |184 0.23| ¥ HE 42 15 F4K 34 30
BRIl 4 2|1 19 0.24| A% HE 42 120 34K 36 30
gRiLT ¥ 2|1% 22 0.23| R ¥ BHE 62 147 F4K 44 30
BRIl 4 2|1 24 0.13| A% HE 59 82( Fk 24 29
BRIl 4 2|1 25 0.11| A% HE 72 76| FIK 22 29
BRIl 4 2|1 27 0.07|h5<Y |EE 70 29[ FK 8 28
BRIl 3 2|1 28 0.04| 2% HE 67 27| FK 8 30
BRIl 3 2|1 29 0.04| A% HE 77 28( FK 8 29
BRIl 3 2|1 30 0.07| A% HE 77 50( F4K 15 30
BRIl 3 2|1 31 0.19| A% HE 43 97| FHHK 29 30
BRIl : 2|1 33 0.2(R¥ BHE 43 102 4K 30 29
gRilTH 3 2|1 38 0.08| A% HE 43 41 FK 12 29




BRIl = 2|1 41 0.09| 2% HE 51 42 FK 12 29
gRILTH & 2[1x 42 0.13| A% HfE 43 53| G4k 15 28
BRIl = 2|1& |43 024|h5<Y |EfE 57 87| FK 26 30
gL = 2|1%  |43m 0.05|7Hh<Y |EE 57 15| B4k 4 27
gL = 2|1E  |44m 0.13| ¥ HE 43 67 F4K 20 30
gL = 2|1 48 0.15|XF HE 46 81| Fk 24 30
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BRIl & 2|1%  |60m 0.05|XF HE 60 19| K 5 26
BRIl & 2|1 62 0.05|h5<Y |EE 60 15| FlK 4 27
BRIl 4 2|1 68 0.17| A% HE 77 95| F4k 28 29
BRIl 4 2|1 71 0.19| A% HE 55 92| FHHK 27 29
BRIl 4 2|1 72 0.12| A% HE 57 59| F4K 17 29
BRIl 4 2|1 73 0.15|h5<y |EE 62 21 FK 6 29
BRIl 4 2|1 74 0.19| A% HE 41 93| FHk 27 29
BRIl 3 2|1 75 0.14|h5<y |EE 57 51 F4k 15 29
R b 2|I< 1 03|ho<Y |BE 57 108 F4K 32 30
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BRIl Pl 2[iz |7\ 0.39| R¥ BHE 46 211 Bk 63 30
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gL Gid 3|5 41 044|h5<Y |EE 59 64 4K 19 30
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gL Gid 3|1 5 0.06| 2% HE 68 32 FK 9 28
gL Gid 3|1 7 0.04|h5<Y |EE 66 12| B4k 3 25
gL Gid 3|I% 13 0.12| 2% BHE 64 61| FiK 18 30
BRIl E4h 3|I&  |27m 0.09| R ¥ HE 67 48( FK 14 29
BRIl G 3|1 29 0.52| A% HE 63 266 Flk 79 30
BRIl G 3|1 30 0.42| A% HE 59 212| Fk 63 30
BRIl F4iE 3|1E 33 028|h5<y |EE 72 91| FK 27 30
BRIl G 3|1 34 0.03| 2% HE 64 15| FiK 4 27
BRIl G 3|1 35 0.18| A% HE 77 101 F4K 30 30
BRIl FhfE 3|1 37 0.3|R¥ HE 70 49 FK 14 29
BRIl FhfE 3|1 38 0.23| A% HE 70 126 4K 37 29
BRIl FhfE 3|1 39 021| A% HE 72 69| FiK 20 29
BRIl FhfE 3|1 40 0.25| A% HE 59 101 F4K 30 30
BRIl FhfE 3|1 40 0.25| A% HE 72 27| FK 8 30
BRIl Fh 3|1 41 0.23| A% HE 61 118 F4K 35 30
BRIl FRf 3|1 43 0.07| A% HE 59 25 FK 7 28
BRIl Fh 3|1 44 0.06| 2% HE 59 30 FK 9 30
BRIl FRf 3|1 45 0.07| A% HE 62 36( FK 10 28
BRIl Fhf 3|1 46 0.05| A% BHE 70 16| K 4 25
gRilTH Frf 3|1 48 0.06| A% HE 57 30 FHK 9 30




BRIl F4iE 3|1 50 0.23| A% HE 63 118 4K 35 30
BRIl F4iE 3|IE |57 0.02| R ¥ HE 67 1] Bk 3 27
BRIl F4iE 3|1 60 0.02|h5<Y |EfE 54 5[ itk 1 20
gL Gid ] [ 1 0.22| R¥ BHE 70 120 %4k 36 30
gL Gid 3|1 4 0.12|R¥F HE 65 27| FK 8 30
gL Gid 3|1 5 0.33| A% HE 77 185 FI4K 55 30
gL Gid 3|1 1 0.95|XF HE 56 93( FI4K 27 29
gL Gid 3|1 12 0.08|h5<Y |EE 77 27| FK 8 30
BRIl G 3|1 13 1.26| 2% HE 66 669| Flk 200 30
BRIl G 3|1 14 054|h5<y |EE 64 160( %4k 48 30
BRIl G 3|1 16 0.28| A¥F HE 63 143 F4K 42 29
BRIl G 3|1 17 0.66| ¥ HE 67 350 Flk 105 30
BRIl G 3|1 19 0.21|RF HE 64 87| Fk 26 30
BRIl G 3|1 22 0.23| ¥ HE 61 107 F4K 32 30
BRIl FhfE 3|1 23 0.28| A¥ HE 64 82( Fk 24 29
BRIl FhfE 3|1 25 0.34|R¥F HE 62 20( FK 6 30
BRIl FhfE 3|1 27 0.18| ¥ HE 63 56 F4K 16 29
BRIl E#fE 3|1 30 034|ho<Y |(EE 60 53 FItk 15 28
BRIl FhfE 3|1 31 0.48| ¥ HE 60 123 F4K 36 29
BRIl Fh 3|1 34 0.07|RF HE 77 39 FK 11 28
BRIl FafE 3|1 36 0.08| 2% HE 45 34 K 10 29
BRIl Fh 3|1 37 0.23| A% HE 45 97| FHHK 29 30
BRIl 3 41> 23 0.07|R¥ HE 63 27| FK 8 30
BRIl : 4| 24 0.25| 2% BHE 63 128 4K 38 30
gRilTH 3 4| 34 0.24| ¥ HE 62 26( F4K 7 27




BRIl = 4L 35 0.13|h5<Y |EfE 67 12| FK 3 25
gRILTH & 4Ly 35 0.13| 2% HfE 72 22| FHK 6 27
BRIl = 4L 37 0.08| R ¥ HE 72 44( FI4K 13 30
gL = 4L 45 011|h3<Ty |EfE 65 34 FIK 10 29
gL = 4L 47 02|R¥ HE 65 106( %4k 31 29
gL = 4L 48 0.06|h><Y |EE 67 19| B4k 5 26
gL = 4L 52 0.13|h5<Y |EfE 63 18| B4k 5 28
gL = 4L 55 0.55| R ¥ BHE 50 251 54K 75 30
BRIl & 41% 1 0.03|h5<Y |EE 65 9| FIK 2 22
BRIl & 41% 2 0.05|h5<Y |EE 65 16| FliK 4 25
BRIl & 41% 6 0.33| A% HE 71 181 F4K 54 30
BRIl & 41% 7 0.11| A% HE 54 53| F4k 15 28
BRIl & 41% 8 0.24| A% HE 55 116 F4K 34 29
BRIl & 41% 9 0.12| A% HE 72 66| FiK 19 29
BRIl 4 41% 13 0.38| A% HE 55 184 FI4K 55 30
BRIl 4 41% 15 0.18| A% HE 67 96 F4k 28 29
BRIl 4 41% 16 0.1|R¥F HE 67 53| F4K 15 28
BRIl 4 41% 17 0.18| A% HE 74 98| F4k 29 30
gRiLT ¥ 41% 18 0.09| R HE 71 49 FK 14 29
BRIl 3 41% 19 0.06| 2% HE 65 16| K 4 25
BRIl 3 41% 19 0.06| 2% HE 80 17| FK 5 29
BRIl 3 41% 21 0.03|h5<Y |EE 72 10| FK 3 30
BRIl 3 41% 22 0.12| A% HE 59 61| FiK 18 30
BRIl : 41% 23 0.03| A% BHE 65 16| K 4 25
gRilTH = 41% 24 0.04|h5<y |EE 59 12| FK 3 25




BRIl 3 41% 25 0.04| 2% HE 60 20( %K 6 30
BRIl 3 41% 26 0.04| 2% HE 57 20( %K 6 30
BRIl 3 41% 34 0.02| 2% HE 65 1] Bk 3 27
gL 1 41% 36 0.09| 2% HE 65 48( 4K 14 29
gL 1 41% 38 0.07| A% HE 65 37 FK 11 30
gL 1 41% 40 0.38| A% HE 62 194( Ik 58 30
gL 1 41% 41 0.14| R ¥ HE 55 68 4K 20 29
gL 1 435|464 0.44| ¥ HE 61 164 4K 49 30
G = 415  |46R 0.06| ¥ HE 44 25 FK 7 28
BRIl = 41% 47 0.38| A% HE 44 157 F4K 47 30
BRIl & 41% 48 0.06| 2% HE 44 20( F4K 6 30
G = 415 |49A 0.03|X¥F HE 44 12| K 3 25
BRIl & 4|15  |50m 0.18| A¥F HE 44 75| FHK 22 29
G = 415 |51A 0.07|R¥F HE 44 29 FK 8 28
BRIl 4 41% 52 0.18| A% HE 65 96 F4k 28 29
BRIl 4 41% 54 0.05| 2% HE 65 27| FK 8 30
gRiLT ¥ 41% 56 0.03| A% HE 68 16| K 4 25
BRIl 4 41% 59 011|h3<y |EE 62 33 FK 9 27
BRIl 4 41% 60 0.3|R¥ HE 44 124 F4K 37 30
BRIl 3 41% 61 0.25| A% HE 44 104 F4K 31 30
gRiLT ¥ 4|1 1 0.01| &A% HE 63 5| B4k 1 20
gRiLT ¥ 4|1 2 0.02| A% HE 72 5| B4k 1 20
BRIl 3 4|1 5 0.01| &A% HE 70 5| B4k 1 20
BRIl : 4|1 6 0.66|h><y |EE 59 193 F4K 57 30
gRilTH 3 4|1 7 0.08|h5<y |EE 59 23 FK 6 26




BRIl 3 4|1 8 0.04|h5<Y |EfE 59 12| B4k 3 25
BRIl 3 4|1 17 0.09| 2% HE 77 50 FI4K 15 30
gRiLTH & 4l 24 0.11|RF HfE 67 58| Ik 17 29
gL 1 4|1 25 0.19| A% BHE 72 104 4K 31 30
gL 1 4|1 30 0.7|R¥ HE 72 383| Flk 114 30
gL 1 4|1 33 0.16| R HE 55 78 4K 23 29
gL 1 4|1 40 0.48| A% HE 55 233| FlK 69 30
gL 1 4|1 41 0.6| A% BHE 55 291| FI4K 87 30
BRIl & 4|1 42 1.22( =¥ HE 59 121 FK 36 30
BRIl & 4|1 49 0.04| 2% HE 77 22( K 6 27
BRIl & 4|1 51 0.03| 2% HE 77 17| FK 5 29
BRIl & 4|1 53 0.03| 2% HE 77 17| FK 5 29
BRIl & 4|1 55 0.03| 2% HE 77 17| FK 5 29
BRIl & 4|1 56 0.09| R HE 77 50| B4k 15 30
BRIl 4 4|1 70 0.19| A% HE 68 101 F4K 30 30
BRIl 4 4|1 2 0.09|h5<Y |EE 58 26( FK 7 27
BRIl 4 4|1 3 0.06|h><y |EE 58 17| FK 5 29
BRIl 4 4112 4 0.07|h5<Y |EE 58 20( FK 6 30
BRIl 4 4|1 5 0.09|h5<Y |EE 58 26( FK 7 27
BRIl 3 4]12 6 0.56|h><y |EE 58 162 FI4K 48 30
R b 4112 7 038|h5<Y |(EE 58 110| F4K 33 30
R b 4]1< 8 03|ho<TY |BE 58 87| FIK 26 30
R b 4112 9 019|h5<Y |(EE 58 55| FK 16 29
BRIl : 4]12 10 025|h5<y |EE 58 72| K 21 29
gRilTH = 4112 11 017|h5<y |EE 58 49 FHK 14 29




BRIl = 4|1 12 017|h3<Y |EfE 58 49( 4K 14 29
BRIl = 4|1 13 022|h5<Y |EfE 58 64 4K 19 30
BRIl = 4|1 14 1.25|h3<y |EifE 49 316 FK 94 30
gL = 4|1 19 0.08| ¥ HE 68 42( F4K 12 29
gL = 4|1 21 0.1|R¥F HE 65 53 FI4K 15 28
gL = 4|1 23 0.04| X ¥ HE 70 22 F4K 6 27
gL = 4|1 24 0.36| X% BHE 72 197 F4K 59 30
gL = 4|1 32 0.03| R¥ BHE 66 16| B4k 4 25
BRIl = 4]12 33 0.04| X ¥ HE 62 20( FK 6 30
BRIl = 4]12 37 0.18| A¥F HE 54 86( Fik 25 29
BRIl = 4]12 38 0.23| ¥ HE 62 118 F4K 35 30
BRIl = 4]12 40 0.09| R ¥ HE 62 46( FK 13 28
BRIl = 4]12 42 0.1|R¥ HE 62 51 B4k 15 29
BRIl = 4]12 43 0.02| R ¥ HE 60 10| FiK 3 30
BRIl Pl 4112 44 0.14| R ¥ HE 47 61 F4K 18 30
BRIl Pl 4112 45 0.12|RF HE 47 52| F4K 15 29
BRIl Pl 4112 46 0.12|R¥F HE 47 52| F4K 15 29
BRIl Pl 4112 47 0.1|R¥F HE 47 44 FK 13 30
BRIl Pl 4112 48 0.05|RF HE 47 22 K 6 27
gRILTH = 4]12 49 0.05| 2% HE 47 22( K 6 27
gRILTH = 4]12 52 0.09| RF HE 62 46( F4K 13 28
gRILTH = 4|12 53 0.15| 2% HE 68 80[ Fik 24 30
gRILTH = 4]12 57 0.18| R¥ HE 77 101 F4K 30 30
BRIl Pl 4]12 58 0.11|RF BHE 77 62| FiK 18 29
gRilTH = 4112 60 0.15| 2% HE 62 77| HAK 23 30




gRILT = 4|1 61 0.15|XF HE 56 74 FK 22 30
gRILT = 4|1 |64m 0.05| R HE 42 20( %K 6 30
gRiLTH & 4{1= 654 0.1|R¥F HfE 72 55| 4K 16 29
gL = 4112 69 003|h5<Y |(EE 72 10| 4K 3 30
gL = 4|12 70 0.04( R ¥ HE 66 21| K 6 29
gL = 4|1 71 0.07|R¥F HE 65 37| FK 1 30
gL = 4112 72 0.1|R¥ BHE 68 53 B4k 15 28
gL = 4112 73 0.11|RF BHE 66 58( B4k 17 29
BRIl & 4|1 74 033|h5<y |EE 64 98| Fik 29 30
BRIl & 4|1 77 0.15|h5<Y |EE 62 45 FK 13 29
BRIl & 4|1 78 0.05|h5<Y |EE 62 15| FlK 4 27
BRIl = 4]12 80 0.08| X ¥ HE 72 44 FHK 13 30
BRIl = 4]12 91 0.07|R¥F HE 54 34 FK 10 29
BRIl = 4]12 92 0.07|R¥F HE 68 37| K 11 30
BRIl Pl 4112 93 0.14| R ¥ HE 72 77| HHK 23 30
BRIl Pl 4112 95 0.17|R¥F HE 67 90| FHk 27 30
BRIl Pl 4112 99 0.13|R¥F HE 59 66| FiK 19 29
BRIl 4 7(Ly - 1A 0.12|h5<y |EE 63 36( FK 10 28
BRIl 4 7{Ly 3 0.17|R¥ HE 43 69| F4K 20 29
BRIl 3 7[Ly - |1om 0.05| 2% HE 67 27| FK 8 30
BRIl 3 7(Ly 114 454|h5<y  |EE 62 1348| Flk 404 30
BRIl 3 7[Ly - |11m 0.82| R¥ HE 62 419 Fk 125 30
BRIl 3 7(Ly - n 0.95| 2% HE 62 485 Flk 145 30
BRIl : 7(Ly |11z 0.05| 2% BHE 62 26( F4K 7 27
gRilTH = 7(Ly 134 0.15|RF HE 68 80( Fik 24 30




BRIl 3 7[Ly - 13n 014|185y |BE 68 44 FHK 13 30
gRILTH & 7[Ly - [13z 0.17|x% HfE 68 90| K 27 30
gRiLTH & 7[Ly 16 0.18| 2% HfE 64 92| FK 27 29
gL = 7{Ly 19 0.28| ¥ HE 61 143 F4K 42 29
gL = 7[Ly  |20m 0.18|h5<y |EE 65 56( ZI4K 16 29
gL = 7(Ly 201 0.3|R¥ HE 65 159( FI4K 47 30
gL = 7[Ly - |20= 0.08|h5<Y |EE 65 25 4K 7 28
gL = 7|Ly  [22m 0.02|R¥ BHE 68 1] FK 3 27
BRIl & 7{Ly 23 0.23|R¥ HE 72 126 4K 37 29
BRIl & 7(Ly 254 0.56| ¥ HE 62 286 Flk 85 30
R b 7|Ly  [25m 028|h5<Y |(EE 62 83| FK 24 29
BRIl & 7{Ly 31 0.62| X% HE 59 313| Fk 93 30
gL e 7{Ly 32 0.09| R ¥ HE 64 46( FK 13 28
gRiLT i 7|5 3 0.03| 2% HE 57 15| FlK 4 27
BRIl 4 7|5 4 0.14| A% HE 57 69| FiK 20 29
BRIl 4 7|5 5 0.59| A% HE 67 313| Flk 93 30
BRIl 4 7|5 8 021| A% HE 69 12| F4K 33 29
BRIl 4 7|5 13 0.21|RF HE 54 101 F4K 30 30
gRiLT ¥ 7|5 15 0.28| A% HE 62 143 F4K 42 29
BRIl 3 7|5 18 0.04| 2% HE 62 20( F4K 6 30
BRIl 3 7|5 20 0.12|h5<y |EE 62 36( FK 10 28
BRIl 3 7|5 24 0.06| 2% HE 68 32( FK 9 28
BRIl 3 7|5 26 0.12| A% HE 55 58( F4K 17 29
BRIl : 7|5 27 0.66| 2% BHE 55 320 Fk 96 30
gRilTH = 7|5 28 0.33| A% HE 63 169 F4K 50 30




BRIl 3 7|5 30 02|R¥ HE 63 102 4K 30 29
BRIl 3 715 |33m 0.32|R¥ HE 44 132 4K 39 30
BRIl 3 7|5 34 0.05| 2% HE 56 25 4K 7 28
gL 1 7|5 35 0.08| 2% HE 70 44( FI4K 13 30
gL 1 7|5 37 0.04|h5<Y |EE 68 12| B4k 3 25
gL 1 7|5 38 0.1|R¥F HE 65 53 4K 15 28
gL 1 7|5 39 0.11|RF HE 64 56( 4K 16 29
gL 1 7|5  |40m 0.08|h5<Y |EE 67 25 4K 7 28
G = 7|5 45 0.28| A% HE 62 143 F4K 42 29
BRIl = 7|5 46 0.03| R ¥ HE 64 15| FilK 4 27
BRIl & 7|5 47 0.18| A% HE 64 92| FHK 27 29
BRIl & 7|5 49 0.15| 2% HE 62 77| HK 23 30
BRIl & 7|5 50 0.09| R HE 62 46( FK 13 28
BRIl & 7|5 51 0.13| A% HE 72 71 FK 21 30
BRIl 4 7|5 52 0.16| A% HE 68 85 Fk 25 29
BRIl 4 7|5 59 0.28| A% HE 53 67| FiK 20 30
BRIl 4 7|15  |63m 0.4|R¥ HE 72 219| FK 65 30
BRIl 4 7|15 |64m 0.56| ¥ HE 72 306 Flk 91 30
BRIl 4 7|5 65 0.03| A% HE 50 12| K 3 25
BRIl 3 U [ES 2 0.16| A% HE 70 88| Fik 26 30
BRIl 3 U [ES 3 011|h5<y |EE 66 34 K 10 29
BRIl 3 U [ES 10 0.09| A% HE 53 43( K 12 28
BRIl 3 U [ES 11 0.21|RF HE 53 100( %4k 30 30
BRIl : 1 [ES 12 0.34| A% BHE 53 162 F4K 48 30
gRilTH 3 U [ES 13 0.11|RF HE 60 56( F4K 16 29




BRIl = U [ES 15 0.09|h5<Y |EfE 77 30 K 9 30
gRILTH & [Es 16 0.11|RF HfE 70 60| FI4K 18 30
BRIl = U [ES 18 082|h5<Y |EfE 62 244| FK 73 30
gL = U [ES 19 0.55| A% BHE 72 301| F4K 90 30
gL = U [ES 20 0.07| A% HE 66 37 FK 11 30
gL = U [ES 21 0.8|R¥ HE 53 114 F4K 34 30
gL = 7|1 22 0.1|R¥F HE 72 55 4K 16 29
gL = U [ES 24 0.58|h5<y |EfE 70 189 FI4K 56 30
gRILH = 71& 2541 0.35| 2% HE 45 148( 4K 44 30
BRIl & 7€ |25m 0.97|R¥F HE 51 450 FK 135 30
BRIl & W1 264 0.34| ¥ HE 53 162 F4K 48 30
BRIl & U [ES 29 0.12|h5<Y |EE 65 37| K 11 30
gRiLT i U [ES 30 0.02| 2% HE 65 1] FK 3 27
gRiLT i U [ES 31 0.03| 2% HE 65 16| K 4 25
BRIl 4 U [ES 32 0.06|h><y |EE 65 19| K 5 26
BRIl 4 U [ES 34 0.14|h5<y |EE 64 42( K 12 29
R ¥ 7|1E 35 0.05|h5<Y |(EE 64 15| F4K 4 27
BRIl 4 U [ES 38 0.51| A% HE 65 133 F4K 39 29
BRIl 4 U [ES 38 051|h5<y |EE 65 81| Fk 24 30
BRIl 3 U [ES 39 0.19| A% HE 64 97| FHHK 29 30
BRIl 3 U [ES 40 0.13| A% HE 54 62| F4K 18 29
BRIl 3 U [ES 41 0.1|R¥ HE 59 51 F4K 15 29
BRIl 3 U [ES 42 0.07| A% HE 59 35 FK 10 29
BRIl : 1 [ES 43 0.1|R¥ BHE 53 48( FK 14 29
gRilTH 3 U [ES 48 0.09|h5<y |EE 55 25 F4K 7 28




BRIl = U [ES 50 0.04|h5<Y |EfE 72 13| B4k 3 23
BRIl = U [ES 54 0.03|h5<Y |EfE 62 9 FtK 2 22
BRIl 3 8lLy (91 0.22|R¥F BifE 77 123 F4K 36 29
gL = 8|Ly 13 0.16| ¥ HE 57 79 FK 23 29
gL = 8|L» 15 0.13|R¥ HE 55 63 4K 18 29
gL = 8|L» 16 0.07|R¥ HE 60 36 4K 10 28
gL = 8|L» 17 0.13|h3<Y |EfE 77 44 FHK 13 30
gL = 8Ly 19 0.4|R¥ BHE 62 102| F4K 30 29
gl & 8Ly 20 0.03| R ¥ HE 62 15| FlK 4 27
BRIl & 8Ly 22 0.1|R¥ HE 72 55 F4k 16 29
BRIl & 8Ly 24 0.12|R¥F HE 77 67| FK 20 30
gRILTH e 8Ly 29 0.98| R ¥ HE 55 475 FK 142 30
gl & 8Ly 30 0.05| 2% HE 55 24 FK 7 29
gl & 8Ly 32 0.17|R¥ HE 59 86( Fk 25 29
BRIl 4 8Ly 34 0.15| X ¥ HE 52 70| FHK 21 30
BRIl & 8Ly 40 0.05| 2% HE 61 26( FK 7 27
BRIl 4 8Ly 41 1.12( =¥ HE 61 572| Fk 171 30
BRIl 4 8Ly 42 0.41|RF HE 62 210| Fk 63 30
BRIl 4 8Ly 44 0.28| ¥ HE 53 133 F4K 39 29
BRIl 3 8Ly 46 0.16| X% HE 55 78| FHK 23 29
BRIl 3 8Ly 48 029|h5<y |EE 67 90| F4K 27 30
BRIl 3 8Ly 56 0.56| X% HE 50 256 Flk 76 30
gRilT 3 8[Ly 58 0.26| 2% BfE 48 15[ F4k 34 30
BRIl : 8|5 1 0.23| A% BHE 61 118 F4K 35 30
gRilTH = 8|5 2 0.1|h3<y |EifE 61 30 FHK 9 30




BRIl 3 8|5 3 0.04|h5<Y |EfE 65 12| B4k 3 25
BRIl 3 8|5 4 0.05|h5<Y |EfE 63 15| B4k 4 27
BRIl 3 8|5 5 001|h3<TY |EfE 61 3| K 1 30
gL 1 8|5 6 0.58|h5<y |EE 63 172 F4K 51 30
gL 1 8|5 7 0.04| 2% HE 64 20( %K 6 30
gL 1 8|5 |81 098|h5<y |EE 63 291| FI4K 87 30
gL = 8|5 |8m 0.41|RF HE 62 210| Fk 63 30
gL 1 8|5 9 0.04|h5<Y |EE 61 12| B4k 3 25
BRIl & 8|5 10 0.09|h35<Y |EE 61 27| K 8 30
BRIl & 8|5 11 0.63| A% HE 52 295 Flk 88 30
BRIl & 8|5 13 1.88| ¥ HE 63 286 Flk 85 30
BRIl & 8|5 13 1.88|h3<y |EifE 63 392| Fk 117 30
BRIl & 8|» [184 0.11|RF HE 54 53| F4k 15 28
BRIl & 8|» |18m 0.08| X ¥ HE 54 38 Fk 11 29
BRIl 4 8|» 181 0.12|RF HE 54 58| F4k 17 29
BRIl 4 8|» |21m 0.17|R¥F HE 55 82( Fk 24 29
BRIl 4 8|5  [221 0.43| R ¥ HE 55 209 FlK 62 30
BRIl 4 8|5 |22m 0.27|R¥F HE 55 131 FK 39 30
BRIl 4 8|5 27 0.02| A% HE 67 1| FK 3 27
BRIl 3 8|5 28 0.02| A% HE 67 1] FK 3 27
BRIl 3 8|5 29 0.09| 2% HE 59 45 FK 13 29
BRIl 3 8|»  [314 0.26| ¥ HE 54 125 FI4K 37 30
gRiLT ¥ 8|» |31m 0.28| 2% HE 54 134 F4K 40 30
BRIl : 8|5 33 0.08| A% BHE 72 44 FHK 13 30
gRilTH = 8|5 35 0.22| A% HE 54 106 Fl4k 31 29




BRIl 3 8|5 36 0.28| A% HE 52 131 FK 39 30
BRIl 3 8|5 37 0.03| 2% HE 62 15| B4k 4 27
gRiLTH & 8|5 38 0.1|R¥F HfE 54 48| FK 14 29
gl 1 8|5 39 0.53| A% BHE 62 271 54K 81 30
gL 1 8|»  |[474 0.33| RA¥ HE 62 169 4K 50 30
gL 1 8|5  |47n 0.03| R¥ HE 67 16| B4k 4 25
gL 1 8|5 55 0.02|h5<Y |EE 68 6| ZltK 1 17
gL 1 8|5 56 0.06| 2% HE 48 27| FK 8 30
G = 8|5 57 0.34| 2% HE 47 148( 4K 44 30
BRIl & 8|5 58 0.05| 2% HE 52 23 FK 6 26
BRIl & 8|5 59 0.07| A% HE 57 35 FK 10 29
BRIl & 8|5 60 0.07| A% HE 80 40 FK 12 30
gRIUTH & 8|5 61 0.03|ZDfthE |HfE 40 2| FK 1 30
BRIl & 8|1 1 1.31|RF HE 50 78| FHK 23 29
BRIl 4 8|l 10 0.13| A% HE 54 62| F4K 18 29
BRIl 4 8|l 12 0.07| A% HE 54 34 K 10 29
BRIl 4 8|l 14 0.13| A% HE 63 66| FiK 19 29
BRIl 4 8|l 15 0.22| A% HE 63 12| F4K 33 29
gRiLT ¥ 8|l 16 0.17| A% HE 54 24 FK 7 29
BRIl 3 8|I& |20m 0.28| 2% HE 46 120 4K 36 30
BRIl 3 8|1 21 0.22| A% HE 51 102 F4K 30 29
BRIl 3 8|1 22 0.13| A% HE 51 60| F4K 18 30
BRIl 3 8|1 23 0.12| A% HE 72 66| FiK 19 29
BRIl : 8|l 26 0.2(R¥ BHE 77 12| FK 33 29
gRilTH 3 8|l1% 27 0.05| A% HE 59 25 F4K 7 28




BRIl & ] [ES 28 0.11|R¥F HfE 65 58| F4k 17 29
gRILT 3 8|l1% 29 0.04| 2% HE 60 20( %K 6 30
gRiLTH & ] [ES 37 0.15| 2% HfE 51 70| FHK 21 30
gL 1 8|1 39 0.01|R¥F HE 57 5[ Ftk 1 20
gL 1 8|l 42 0.3|R¥ HE 53 143 F4K 42 29
gL 1 8|l 60 0.16| ¥ HE 69 85 ZI4K 25 29
gL 1 8|1 61 0.13|R¥ HE 65 69 4K 20 29
gL 1 8|l 62 0.1|R¥F HE 64 51 F4K 15 29
BRIl & 8|1 66 0.09| R HE 72 49 FK 14 29
BRIl & 8|1 67 0.52| A% HE 59 263| Flk 78 30
BRIl & 8|1 68 0.3|R¥ HE 64 153 4K 45 29
BRIl & 8|1 69 0.63| A% HE 77 146( 4K 43 29
BRIl & 8|1 70 0.19| R HE 50 87| Fk 26 30
BRIl = 8|1 9 0.36| 2% HE 69 191 F4K 57 30
BRIl Pl 8|1 10 0.03| R¥ HE 72 16| K 4 25
BRIl Pl 8|1 11 0.09| R ¥ HE 64 46( FK 13 28
BRIl 4 8llz 124 0.12|R¥F HE 68 64| FiK 19 30
BRIl 4 ] [ 13 0.02|h5<Y |EE 67 6| FIIK 1 17
BRIl 4 8|1 14 0.07|h5<Y |EE 68 22 K 6 27
R b 8|I< 19 02|h5<Y |BE 62 59| FK 17 29
R b 8|I< 22 0.16|h5<Y |(EE 62 48| FHK 14 29
R b 8|I< 23 012(h5<Y |(EE 62 36| FK 10 28
R b 8|I< 24 027|h5<Y |(EE 62 80| F4K 24 30
BRIl : 8|1 25 0.09|h5<y |EE 62 27| K 8 30
gRilTH = 8|1 26 0.31| A% HE 62 31 FK 9 29




gRILT = ] [ 31 0.06| 2% HE 55 29 4K 8 28
gRILT = 8]l 36 0.05| R HE 68 27 FK 8 30
gRILT = ] [ 41 0.08| R ¥ HE 72 44( FI4K 13 30
gL = ] [ 42 0.12|R¥F HE 72 66( 4K 19 29
gL = 8|I< 43 0.1|R¥ BHE 67 5| FK 1 20
gL = ] [ 45 0.14|RF HE 67 74 FK 22 30
gL = ] [ 48 0.07|R¥ BHE 59 10| B4k 3 30
gL = ] [ 50 0.06| ¥ HE 68 32 FK 9 28
BRIl = 8|1 51 0.05|XF HE 77 28( FK 8 29
BRIl = 8|l 53 0.04| X ¥ HE 65 21 FK 6 29
BRIl = 8|1 54 0.04| X ¥ HE 62 20( F4K 6 30
BRIl = 8|1 56 0.08| X ¥ HE 55 39 FK 11 28
BRIl = 8|l 57 0.1|R¥ HE 72 55 F4k 16 29
BRIl = 8|1 58 0.01|RF HE 72 5| FI4K 1 20
BRIl Pl 8|1 60 0.03| R ¥ HE 44 12| K 3 25
BRIl FhfE 20[Ly 1 0.32| A% HE 70 175 F4K 52 30
BRIl FhfE 20[Ly 2 0.3|R¥ HE 69 127 F4K 38 30
BRIl FhfE 20[Ly 3 0.19| A% HE 57 94| FHHK 28 30
BRIl FhfE 20[Ly 6 0.14| A% HE 64 72| K 21 29
BRIl Fh 20[Ly 7 0.05| A% HE 64 26( F4K 7 27
BRIl FRf 20[Ly 9 0.42| A% HE 67 12| Fk 33 29
BRIl E#ME 20{L> 9 042(h5<Y |(EE 67 66| Flk 19 29
BRIl E#fE 20{L> 10 01|h5<TY |BE 68 31| FAK 9 29
BRIl Fhf 20[Ly 12 0.22| A% BHE 77 123 F4K 36 29
BRIl FhfH] 20[Ly 13 0.13|RF HE 59 66| FI4K 19 29




BRIl F4iE 20(Ly 14 0.36| 2% HE 62 184 4K 55 30
BRIl F4iE 20(Ly 15 0.56| 2% HE 68 143 F4K 42 29
BRIl F4iE 20(Ly 15 0.56|h5<y |EfE 68 90( FI4K 27 30
BRIl FRME 20|L> 16 0.2|R¥F BE 67 106 G4k 31 29
BRIl FRME 20|L> 17 0.27|x% BfE 67 74| FK 22 30
gL Gid 20(Ly 20 0.22| R¥ HE 62 56( ZI4K 16 29
BRIl FRME 20|L» 21 0.28| 2% BfE 62 72| FHK 21 29
gL Gid 20(Ly 22 0.19| R¥ HE 59 86( ZI4K 25 29
BRIl G 20[Ly 26 0.06| 2% HE 56 29 FK 8 28
BRIl G 20[Ly 27 0.34| A% HE 67 37| K 11 30
BRIl G 20[Ly 28 0.26| A% HE 67 21 FK 6 29
BRIl G 20[Ly 29 0.24| A% HE 59 121 FK 36 30
gRiLT Fafe 20|Ly  [30m 0.08| 2% BfE 77 45| B4R 13 29
BRIl G 20[Ly 31 0.61| &A% HE 64 312| Fk 93 30
BRIl FhfE 20[Ly 32 0.07| A% HE 64 36( FK 10 28
BRIl E#fE 20{L> 33 0.02(h5<Y |(EE 69 6| FK 1 17
BRIl FhfE 20[Ly 34 0.02| A% HE 64 10| FlK 3 30
BRIl FhfE 20[Ly 35 0.04| A% HE 66 1| FK 3 27
BRIl F4iE 20(Ly 40 091|RF HE 61 184 FI4K 55 30
BRIl Fh 20[Ly 41 0.7|R¥ HE 60 72| K 21 29
BRIl FRf 20[Ly 41 0.7|R¥ HE 65 69| FiK 20 29
BRIl F4iE 20[Ly 43 0.08| X% HE 67 42( K 12 29
BRIl F4iE 20[Ly 45 0.31|RF HE 77 174 F4K 52 30
BRIl Fhf 20[Ly 46 0.32| A% BHE 69 170 F4K 51 30
BRIl FhfH] 20[Ly 47 0.16| X% HE 49 72 K 21 29




BRIl F4iE 20|% 3 0.04| 2% HE 55 19| B4k 5 26
gRILTH Fem 20|% 5 0.13| A% HfE 65 69| F4K 20 29
gRiLTH Fem 20|% 7 0.14| A% HfE 77 78| FK 23 29
gL Gid 20|% 8 0.1|R¥F HE 77 56( FIl4K 16 29
gL Gid 20|% 10 0.15| 2% HE 61 77 FK 23 30
gL Gid 20(» 114 0.54| ¥ HE 59 242| FK 72 30
gL Gid 20(» 114 0.54| ¥ HE 72 33 FK 9 27
gL Gid 20(%» |11m 017|h3<Y |EfE 72 55 Fil4K 16 29
BRIl G 20|% 12 0.38| A% HE 67 74| FHHK 22 30
BRIl G 20|% 13 0.11|RF HE 69 58| F4k 17 29
BRIl G 20(A» |14m 0.12|h5<Y |EE 72 39 FK 11 28
BRIl G 20|% 15 0.13| A% HE 63 66| FIiK 19 29
BRIl G 20|% 17 0.03|h5<Y |EE 64 9| FIIK 2 22
BRIl G 20|% 19 0.36| A% HE 66 191 F4K 57 30
BRIl FhfE 20(1% 1 0.12| A% HE 66 37| K 11 30
BRIl FhfE 20(1% 2 0.11| A% HE 66 42( K 12 29
BRIl FhfE 20(1% |34 0.12|R¥F HE 46 511 F4K 15 29
BRIl FhfE 20(1% |3m 0.06| ¥ HE 62 31| FK 9 29
BRIl FhfE 20(1%  [3n 0.1|R¥F HE 62 511 B4k 15 29
BRIl Fh 20(1% |44 0.38| ¥ HE 46 163 FI4K 48 29
BRIl FRf 20(1% |51 0.34| R ¥ HE 46 146 FI4K 43 29
BRIl FafE 20(1% |64 0.15| 2% HE 46 64| FiK 19 30
BRIl FRf 20(1% |74 0.08| X2 ¥F HE 57 40 FHK 12 30
BRIl Fhf 20(1% 8 0.15| A% BHE 64 77| FAK 23 30
BRIl FHiE 20(1% 10 0.11|RF HE 62 56( F4K 16 29




gRILT F4iE 20(1% 14 0.03| 2% HE 66 16| B4k 4 25
gRILT F4iE 201 18 0.03| 2% HE 64 15| B4k 4 27
gRiLTH Faf 20[1x |19m 0.1|R¥F HfE 57 50| B4k 15 30
gl Gid 20[1%  |20m 0.31| A% BE 57 153 F4k 45 29
gRIUTH FRME 20|1% 21 0.21| A% BfE 55 82( Fk 24 29
gL Gid 201 24 0.18| X¥F HE 64 92 FI4K 27 29
gL Gid 20(1% 25 0.13|h5<Y |EfE 65 41 FK 12 29
gL Gid 20(1% 26 0.22| A% HE 57 54( FIl4K 16 30
BRIl G 20(1% 29 0.06| 2% HE 57 10| FlK 3 30
BRIl G 20(I= 2 0.29| ¥ HE 72 159( 4K 47 30
BRIl G 20(I= 4 0.04| X ¥ HE 74 22 K 6 27
BRIl G 20(I= 5 0.04| X ¥ HE 74 22( K 6 27
BRIl G 20(I= 6 0.04|h5<Y |EE 74 13| K 3 23
BRIl G 20(I= 12 0.4|R¥ HE 69 212| Fk 63 30
BRIl FhfE 20(I= 14 0.11|RF HE 68 58| F4k 17 29
BRIl FhfE 20(I= 18 0.05|RF HE 68 27| FK 8 30
BRIl FhfE 20(I= 19 02|R¥ HE 64 102 4K 30 29
BRIl FhfE 20(I= 22 0.38| ¥ HE 69 202| Fk 60 30
BRIl FhfE 20(I= 26 0.23| ¥ HE 46 99| FHK 29 29
BRIl E#ME 20|12 27 022|h5<Y |EE 64 65 Flk 19 29
BRIl FRf 20[I= 28 0.12|RF HE 46 51 F4k 15 29
BRIl Fh 20[I= 29 0.26| 2% HE 46 112 FK 33 29
BRIl E#fE 20|12 30 013|h5<Y |(EE 62 39| FHK 11 28
BRIl Fhf 20(I= 31 0.12|RF BHE 60 61 F4K 18 30
BRIl FHiE 20[I= 32 0.22| A% HE 64 12| Kk 33 29




BRIl F4iE 20(1x 1 0.31|RF BifE 55 150( %4k 45 30
gRILTH Fem 20|1F 8 0.15| 2% HfE 64 77| FHK 23 30
BRIl F4iE 20(1% |9 1.12(h3<y  |EfE 67 349 FK 104 30
gL Gid 20(1x 10 0.18| A% HE 72 98( FI4K 29 30
gL Gid 20(1x 15 0.52| A% HE 62 266 FlK 79 30
gL Gid 20(1x 16 0.18| A% HE 62 92 FI4K 27 29
BRIl Gid 20|1F 19 0.1|R¥F BE 62 51| F4K 15 29
gRIUTH FRME 20|1F 21 0.85| 2% BfE 60 434| FK 130 30
BRIl G 20(1x 22 037|h3<y |EE 57 105 %4k 31 30
BRIl G 20(1%  |264 0.12|RF HE 56 59| B4k 17 29
BRIl G 20(1% |26m 0.17|R¥F HE 56 83( Fk 24 29
BRIl G 20(1x 28 0.14| 2% HE 56 69| F4K 20 29
BRIl G 20(1x 31 0.13| A% HE 67 5| FI4K 1 20
BRIl G 20(1x 48 0.03| 2% HE 67 16| K 4 25
BRIl FhfE 20(1x 50 0.02| A% HE 67 1] FK 3 27
BRIl FafE 20(1x 52 0.01| R HE 67 5| FI4K 1 20
BRIl FhfE 20~ 10 0.1|R¥F HE 56 49 FK 14 29
BRIl FhfE 20~ 13 0.17|RF HE 57 84| Fk 25 30
BRIl E#fE 20(~ [144 039|h5<Y |(EE 62 21| K 6 29
BRIl Fh 20(~ |14m 0.37|R¥ HE 67 138 4K 41 30
BRIl FRf 20~ 31 0.02| R¥ HE 67 1] FK 3 27
BRIl Fh 20~ 34 0.67|RF HE 62 342| F4K 102 30
BRIl FRf 20~ 40 0.14|RF HE 57 69| FiK 20 29
BRIl | 20|~ |[47n 02|h5<Y |BE 62 59| F4K 17 29
gRilTH Frf 20~ 52 0.02|h5<Y |EE 57 6| FIIK 1 17




BRIl F4iE 20~ 59 0.04|h5<Y |EfE 77 13| B4k 3 23
BRIl —h 97|t 2 0.07|R¥ HE 59 35 4K 10 29
BRIl — 97|L» 4 0.1|R¥ HE 60 51| F4K 15 29
gL —1l 97(Ly 5 0.05| 2% HE 62 26( 4K 7 27
gL —1l 97(Ly 6 0.12|R¥F HE 62 61| FiK 18 30
gL —1l 97(Ly 9 0.18| ¥ HE 67 21| FK 6 29
gL —1l 97(Ly 11 0.06| R ¥ HE 57 30 FI4K 9 30
gL —1l 97(Ly 12 0.07|R¥ HE 73 38( Fk 1 29
BRIl —1l 97|Ly  [13m 0.1|R¥ HE 67 53| F4k 15 28
BRIl —1l 97(Ly 15 1.01|R¥F HE 55 437| FK 131 30
BRIl —1l 97(Ly 16 0.21|RF HE 55 102 4K 30 29
BRIl —il 97|L» 17 11| R HfE 53 527| Fk 158 30
BRIl —1l 97(Ly 18 0.34| 2 ¥ HE 53 162 4K 48 30
BRIl —1l 97(Ly 41 021|RF HE 77 56 F4K 16 29
BRIl —1l 97(Ly 44 0.03| R ¥ HE 63 15| FilK 4 27
BRIl —1l 97(Ly 56 0.08| R ¥ HE 67 42( K 12 29
BRIl —1l 97(Ly 58 0.04| 2% HE 72 22( K 6 27
BRIl —1l 97(Ly 62 0.02|R¥ HE 67 1| FK 3 27
BRIl —1l 97(Ly 67 0.11|RF HE 72 60| F4k 18 30
BRIl —1l 97(Ly 68 0.36| X% HE 62 184 FI4K 55 30
BRIl —1l 97(Ly 71 0.08| X% HE 72 44 FHK 13 30
BRIl —1l 97|% 2 0.07| A% HE 67 37| FK 11 30
BRIl —1l 97|% 4 0.16| A% HE 74 88| Fik 26 30
BRIl —1l 97(» |51 0.13|R¥F BHE 57 64| FiK 19 30
gRilTH —1l 97|% 9 0.15| A% HE 62 15| K 4 27




gRILT —1L 97|% 10 0.07| A% BifE 77 39 FK 11 28
gRILTH — L 97| 124 0.01| R HfE 67 5[ F4K 1 20
gRiLTH — L 97[» |12m 0.01| R HfE 70 5[ F4K 1 20
gL —Il 97|% 14 0.67| A% HE 72 33 FK 9 27
gL —Il 97(»  |184 0.03| X ¥ HE 72 16| K 4 25
gL — 1 97|% 180 0.03|R¥ HE 67 16| K 4 25
gL —1L 97| 23 0.03| R ¥ BHE 72 16| K 4 25
gL —Il 97|% 27 0.13|R¥ HE 62 66| FiK 19 29
BRIl —1l 97|% 33 0.13| A% HE 72 44 FHK 13 30
BRIl —1l 97|% 36 0.06| 2% HE 77 34 FK 10 29
BRIl —1l 97|% 40 0.26| A% HE 55 10| FiK 3 30
BRIl —1l 97(» |47 0.41|R¥F HE 72 157| F4K 47 30
BRIl —1l 97|%»  |491 039|h3<Y |(EfE 60 116 F4K 34 29
BRIl —1l 97|% 50 0.22| A% HE 65 17| FK 35 30
BRIl —l 97|15 52 012(h5<Y |(EE 62 36| FK 10 28
BRIl —1l 97|% 53 0.07| A% HE 64 5| FI4K 1 20
BRIl —l 97|15 56 0.14|h35<Y |(EE 62 12| FK 3 25
BRIl —l 97|15 57 019|h5<Y |(EE 63 56| Bk 16 29
BRIl —l 97|15 60 012(h5<Y |(EE 67 37| K 11 30
BRIl —1l 97|% 79 0.18|h5<Y |(EE 55 50| F4K 15 30
BRIl —1l 971% 1 0.12| A% HE 80 68| FiK 20 29
BRIl —1l 97|1% 2 061|Ah5<Y |(EE 61 181 F4K 54 30
BRIl —1l 97|1& |31 011|A5<Y |(EE 54 30| FHK 9 30
BRIl —1l 97|I&  [121 007|h5<Y |(EE 60 21| K 6 29
gRilTH —1l 97(1%  [164 0.16|RA¥F HE 62 82( Fik 24 29




BRIl — L 97|1% 22 0.14| A% HfE 60 72| FK 21 29
BRIl — L 97(1x  |26m 0.12| 2% HE 61 61| F4K 18 30
BRIl —u 97|1% 33 0.14| 2% HfE 61 41| 4R 12 29
gL —1l 971% 38 037|h3<y |EfE 60 77 FK 23 30
gL —1L 97|1% 39 0.29| R ¥ HE 48 128 FK 38 30
gL —1l 971% 40 0.06| 2% HE 51 28( 4K 8 29
gL —1L 97|1% M 0.23|R¥F BHE 47 100| F4K 30 30
gL —1L 97|I= 1 0.14| R ¥ HE 63 36 4K 10 28
BRIl —1l 97|I< 3 0.1|R¥ HE 77 56 F4K 16 29
BRIl —1l 971z |64 0.12|RF HE 52 56 F4K 16 29
BRIl —1l 97|I= 8 0.27|R¥F HE 77 95| F4k 28 29
BRIl —1l 971z 104 0.21|RF HE 46 90| FHk 27 30
BRIl — 971 |1om 0.28| A¥F HE 77 157 F4K 47 30
BRIl —1l 971z [1om 0.08| X ¥ HE 46 17| FK 5 29
BRIl — 97(I=  [1om 0.08| ¥ HE 54 19| K 5 26
BRIl —1l 97|I= 1 0.06| ¥ HE 54 29[ FK 8 28
BRIl —1l 97(I=  |[164 0.15|RF HE 54 72| K 21 29
BRIl —1l 97|I= 17 0.23| ¥ HE 62 118 F4K 35 30
BRIl —1l 97|I= 18 0.06| ¥ HE 55 29[ FK 8 28
BRIl —1l 97|I< 21 0.35| 2% HE 54 168[ FI4K 50 30
BRIl —1l 971z |221 02|R¥ HE 55 97| FHHK 29 30
BRIl —1l 97|I< 28 0.42| RF HE 62 107 F4K 32 30
BRIl —1l 97|I< 29 0.32| R¥ HE 50 101 F4K 30 30
BRIl —1l 97(I 29 0.32| R¥ BHE 67 53 FK 15 28
gRilTH —1l 97|I< 30 0.06| R HE 67 21 FK 6 29




gRILT —h 97| 31 0.03| R ¥ HE 57 15| B4k 4 27
gRILT —h 97| 32 0.16| X ¥ HE 64 57 4K 17 30
gRILT —h 971 34 0.11|RF HE 54 53 FI4K 15 28
gL —1l 97(I=  |354 0.07|RF HE 77 39 FK 1 28
gL —1l 97|I= 36 0.69| 2% HE 50 315| FlK 94 30
gL —1l 97|I= 37 011|h3<Ty |EfE 61 33 FK 9 27
gL —1l 97|I= 40 0.66| ¥ HE 79 73 FK 21 29
gL —1L 97|12 42 0.36| R ¥ BHE 77 101 F4K 30 30
BRIl —1l 97|12 44 017|h5<Y |(EE 61 50( 4K 15 30
BRIl —1l 97|I< 49 0.02| R ¥ HE 67 1] FK 3 27
BRIl —1l 97|I= 50 0.48| ¥ HE 64 107 F4K 32 30
BRIl —1l 97|I< 50 0.48| ¥ HE 72 71 FK 21 30
BRIl —1l 97|I< 50 0.48| ¥ HE 77 78| FHK 23 29
BRIl —1l 97|I= 51 0.08| X ¥ HE 54 38 Fk 11 29
BRIl —1l 97|I= 52 0.05|XF HE 54 24 FK 7 29
BRIl —l 97|12 53 005|h5<Y |(EE 55 14| F4K 4 29
BRIl —1l 97|I= 54 0.1|R¥F HE 55 49 FK 14 29
BRIl —1l 97(I1x 3 0.1|R¥F HE 67 53| F4k 15 28
BRIl —1l 97(I1x 4 0.01| R HE 72 5| FI4K 1 20
BRIl —1l 97(1% |64 0.14|R¥F HE 61 10| FK 3 30
gL — 97(I%  |6m 0.02| R¥ HE 61 0| FIK

BRIl —1l 97(I1x 8 0.06| 2% HE 61 31| FK 9 29
BRIl —1l 97(I1x 15 0.15| A% HE 72 19| K 5 26
BRIl —1l 97(1x 20 0.1|R¥ BHE 73 55 F4k 16 29
gRilTH —1l 97(I1x 21 0.06| A% HE 75 34 K 10 29




BRIl — L 97|IF 22 0.11|R¥F HfE 59 56| 4K 16 29
gRILTH — L 97|1F 27 0.19| A% HfE 59 96| Fl4K 28 29
BRIl —1L 97(1x 28 0.38| A% HE 54 91| FK 27 30
gL —1l 97(I1x 31 0.04| 2% HE 70 22 F4K 6 27
BRIl —Il 97(I1x 34 0.09| R HE 55 44( FI4K 13 30
gL —1l 97(1F |35 0.04| X ¥ HE 72 22 F4K 6 27
gL —1L 97|1F 42 0.07|R¥ BHE 63 10| 4K 3 30
BRIl —Il 97(I1x 43 0.23| A% HE 54 34 FIK 10 29
BRIl —1l 97(I1x 43 0.23| A% HE 60 82( Fk 24 29
BRIl —1l 97(I1x 44 0.08| 2% HE 54 38 Fk 11 29
BRIl —1l 97(I1x 46 021| &A% HE 59 40 FK 12 30
BRIl —1l 97(I1x 47 0.49| A% HE 67 17| FK 5 29
BRIl —1l 97(I1x 48 0.13| A% HE 77 73| FHHK 21 29
BRIl —1l 97(I1x 50 0.12| A% HE 67 32 FK 9 28
BRIl —1l 97(I1x 55 021| A% HE 47 64| FiK 19 30
BRIl —1l 97(I1x 57 0.02| A% HE 62 5| FI4K 1 20
BRIl —1l 97(I1x 57 0.02| A% HE 77 6| FIIK 1 17
BRIl —1l 97(I1x 59 0.07| A% HE 69 5| FI4K 1 20
BRIl —1l 97(I1x 70 0.23| A% HE 77 90| FHk 27 30
BRIl —1l 97(I1x 72 0.04| 2% HE 59 20( F4K 6 30
BRIl —1l 97(I1x 73 0.18| A% HE 72 98| F4k 29 30
BRIl —1l 97(I1x 74 0.05| 2% HE 67 27| FK 8 30
BRIl —1l 97(I1x 75 0.03| A% HE 63 15| K 4 27
BRIl —1l 97(1x 83 0.14| A% BHE 67 74| K 22 30
BRIl —1l 97(I1x 85 0.07| A% HE 70 27| FK 8 30




BRIl —1L 97(I1x 86 0.02| 2% HE 67 1] Bk 3 27
gRILTH — L 97|1F 87 0.17| A% HfE 55 82| FK 24 29
BRIl —1L 97(1x 88 0.02| 2% HE 55 10| B4k 3 30
gL —1l 97(I1x 89 0.18| X¥F BHE 57 71 FK 21 30
gL —1l 97(I1x 91 0.07| A% HE 57 35 4K 10 29
gL —1l 97(I1x 96 0.16| ¥ HE 55 78 4K 23 29
gL —1L 97|1F 97 0.03| R BHE 55 15| FK 4 27
gL —1l 97(I1x 98 0.03| 2% HE 40 8| FltK 2 25
BRIl —1l 97(~ 2 0.11|RF HE 65 58| F4k 17 29
BRIl —1l 97(~ |34 0.15|XF HE 57 74| FHHK 22 30
BRIl —1l 97(~ 4 0.12|RF HE 60 61| F4k 18 30
BRIl —1l 97(~ 5 0.08| R ¥ HE 61 41 FK 12 29
BRIl —1l 97(~ 9 0.09| R ¥ HE 77 50| F4k 15 30
BRIl —1l 97|~ |104 0.17|R¥F HE 72 93| Fk 27 29
BRIl —1l 97|~ |10n 0.24|R¥ HE 72 33 FK 9 27
BRIl —1l 97(~ 12 0.03| R¥ HE 61 15| FiltK 4 27
BRIl —1l 97(~ 14 0.53| R¥ HE 72 27| FK 8 30
BRIl —1l 97(~ 22 0.29| R¥ HE 62 148( 4K 44 30
BRIl —1l 97(~ 24 0.01|RF HE 77 6| FIIK 1 17
BRIl —1l 97(~ 25 0.27|RF HE 77 28( FK 8 29
BRIl —1l 97(~ 26 0.07|R¥ HE 67 37| FK 11 30
BRIl —1l 97(~ 27 0.48| A% HE 72 77 HAK 23 30
BRIl —1l 97(~ 29 0.08| 2% HE 72 44 FHK 13 30
BRIl —1l 97(~ 30 0.15|RF BHE 62 77| FAK 23 30
gRilTH —1l 97(~ 33 0.58| A% HE 61 296| FI4K 88 30




gRILT —1L 97|~ 35 0.26| 2% BifE 74 44 FHK 13 30
BRI —1 97|~ 38 007(h5<Y |(EE 57 6| FK 1 17
gRILT —1L 97|~ 44 0.05| 2% BifE 66 27| K 8 30
gL —1l 97(~ 56 029|h5<Y |EfE 52 77| FK 23 30
gL —1l 97(~ 65 0.12| A% HE 54 58| Fk 17 29
gL —1l 97|& 4 0.68|h5<y |EE 61 122 F4K 36 30
gL —1l 97|& 5 0.03| 2% HE 71 16| B4k 4 25
gL —1L 97|& 12 0.22| R BHE 80 125| FK 37 30
BRIl —1l 97|& 20M 015|h5<Y |(EE 54 41| K 12 29
BRIl —1l 97|& 23 025|h5<Y |(EfE 61 53( Fi4K 15 28
BRIl —1l 97|& 271 0.05|h5<Y |(EfE 69 12| B4R 3 25
BRIl —1l 97|& 294 019|h5<Y |(EE 61 56( Fil4K 16 29
BRIl —1l 97|& 30 009|h5<Y |(EfE 61 27| FAK 8 30
BRIl — 97|& 32 0.15| 2% HE 54 72| K 21 29
BRIl — 97|& 33 0.16| A% HE 46 69| FiK 20 29
BRIl —l 97|& 34 0.04|H5<Y |(EE 54 1] Bk 3 27
BRIl — 97|& 35 0.44| 2% HE 44 73| K 21 29
BRIl — 97|& 36 0.04| A% HE 48 9| FIIK 2 22
BRIl —l 97|& 36 0.04|H5<Y |(EE 52 5| FK 1 20
BRIl —1l 97|56 6 022|h5<Y |EE 53 59| FK 17 29
BRIl —1l 97|56 8 0.09|h5<Y |(EE 63 27| FAK 8 30
BRIl —1l 97|56 9 028|h5<Y |(EE 54 54| FK 16 30
BRIl — 97(H 13 0.64| A% HE 67 170 F4K 51 30
BRIl —1l 97|56 144 0.16|h><Y |(EE 55 44| K 13 30
gRilTH —1l 97(  [164 022|h5<y |EE 69 69| F4K 20 29




R —1 97|56 160 0.18|h5<Y |(EE 69 22| AR 6
gRILTH — L 97|15 17 017|h5<y |EE 60 35| Fl4R 10
gRILT —1L 97(Y 3 0.19|h3<Y |EfE 62 56( FIl4K 16
R —1l 97|Y 4 039|h3<Y |BfE 63 116 54K 34
BRIl —Il 97(Y 6 0.08| 2% HE 74 44( FI4K 13
BRI — 97(Y 7 051|h5<Y |(EE 67 159 FK 47
BRI — 97(Y 18 005|h5<Y |(EfE 64 15| FK 4
BRIl —Il 97(Y 21 023|h5<Y |EE 59 23 FK 6
gRiT —1l 97(Y 21 023|h5<Y |(EfE 62 45| FK 13
BRI —1l 97(Y 29 0.04|h5<Y |(EE 62 12| FK 3
gRiT —1l 97(Y 30 0.04|h5<Y |(EfE 62 8| AKX 2
BRIl — 97(Y 31 0.07| A% HE 47 31| FK 9
gRILH miee 141y |14 0.81|RF HE 69 197 FK 59
gRILH miee 1410y |24 4.96|RF HE 80 250 Flk 75
BRIl EI 14115 |14 32|R¥ HE 51 1485 Flk 445
BRIl EI 14115 |1n 1| R% HE 51 464 FK 139
BRIl EI 14115 |1z 0.64| 2% HE 51 32 FK 9
BRIl EI 141|% 4 0.11| A% HE 65 58| F4k 17
BRIl EI 141|% 5 0.12| A% HE 65 64| FiK 19
BRIl EI 141|3  |10m 0.05| 2% HE 56 25 FK 7
BRIl EI 141|3  |11m 0.03| R¥ HE 55 15| K 4
gRILTH mfae 141(1& |1\ 4.15| 2% HE 51 1926| Flk 577
gRILTH mfae 141|I& 1k 0.1|h3<y |EfE 59 29[ FK 8
gRILTH e 1411 7 0.11| &A% BHE 55 53 FK 15
gRILTH miEe 1411 8 0.08| A% HE 55 39 FK 11




BRIl I 1411 3 0.19| R ¥ HE 61 56( Fil4K 16 29
BRIl I 1411 4 0.15|XF HE 61 46( FI4K 13 28
BRIl I 1411 5 0.16| X ¥ HE 62 82( ZI4K 24 29
gL I 1411 11 0.04| R ¥ BHE 54 19| B4k 5 26
gL I 1411 12 0.08| ¥ HE 77 45 4K 13 29
gL I 1411 13 0.09| X ¥ HE 77 50 FI4K 15 30
gL I 1411 |14n 0.02| R¥ BHE 54 10| B4k 3 30
gL I 14112 140 0.03| R¥ BHE 67 16| B4k 4 25
BRIl I 1411 15 0.04| X ¥ HE 77 22( K 6 27
BRIl I 1411 16 0.05|XF HE 77 28( FK 8 29
BRIl I 1411 17 0.3|R¥ HE 55 146( 4K 43 29
BRIl I 1411 18 0.39| R ¥ HE 60 199( 4K 59 30
BRIl I 1411 19 0.12|RF HE 60 61| F4k 18 30
BRIl I 1411 20 0.07|R¥F HE 56 34 FK 10 29
BRIl EI 1411 21 0.07|R¥F HE 56 34 K 10 29
BRIl EI 1411 23 0.05|RF HE 57 25 FK 7 28
BRIl EI 1411 25 0.02| R ¥ HE 77 1] FK 3 27
BRIl EI 1411 26 0.03| R ¥ HE 55 15| FiltK 4 27
BRIl EI 1411 |32m 0.05|RF HE 55 24 FK 7 29
BRIl EI 14112 34 0.06| 2% HE 77 34 K 10 29
BRIl EI 14112 48 0.09| RF HE 53 43( K 12 28
BRIl EI 14112 49 0.23| A% HE 53 109 4K 32 29
BRIl EI 141](2 50 0.18|h5<Y |(EE 57 51| F4K 15 29
gRiLT e 141|(F 1 0.25| 2% BfE 55 73| FK 21 29
gRilTH miEe 141(1F 1 025|h5<y |EE 55 28( FHK 8 29




BRIl miee 141[1F 2 0.18| A% HfE 54 86( Fk 25 29
gRILTH miee 141[1F 3 0.14| A% HfE 54 67| FIK 20 30
gRiLTH miee 141[1F 38 0.19| A% HfE 62 37 FK 11 30
BRIl miee 141[1F 39 027|h3<Y |EE 62 64| FIK 19 30
BRIl miee 141[1F 45 0.29( 2% HE 47 126 F4k 37 29
G miEe 141~ 5 0.07|R¥ HE 59 6| FIK 1 17
gL miee 141|~ |84 0.12|RF HE 61 15| B4k 4 27
gL miee 141|~ |8m 0.15|7Hh<Y |EfE 43 29 4K 8 28
gRiLT miee 141(~ |94 0.16| A% BfE 61 8| FltK 2 25
BRIl miee 141|~ 16 0.4|R¥ HE 57 59| B4k 17 29
BRIl miee 141|~ 17 0.15| 2% HE 67 80( Fk 24 30
BRIl miee 141~ 18 0.09| R ¥ HE 60 15| FlK 4 27
BRIl miee 141|~ 19 0.23| R¥ HE 57 35 FK 10 29
gRiLT miee 141[& 1 0.06|h5<Y |EE 59 18 F4Kk 5 28
gRiLT e 141|& 2 0.08|H5<Y |EE 59 23 K 6 26
gRiLT e 141|& 3 0.22| 2% BfE 28 55| B4k 16 29
gRiLT e 141|& 4 0.14| 2% BfE 29 36| B4R 10 28
gRiLT e 141|& 5 0.06| 2% BfE 59 30| FHK 9 30
gRiLT e 141|& 6 0.04| 2% BfE 59 20| B4R 6 30
gRiLT mfae 141|& 7 0.29| 2% BfE 59 146 FI4k 43 29
gRiLT mfae 141|& 8 0.16| 2% BfE 59 81| B4R 24 30
gRiLT mfae 141|& 26 0.09|h5<Y |EE 65 3| Bk 1 30
gRiLT mfae 141(&  |30m 0.05( 2% BfE 34 16| F4k 4 25
gRiLT e 141(& |31m 0.11|R¥ BfE 34 34| FHK 10 29
BRIl miEe 141|& 32 0.1|h3<y |EifE 65 3| FK 1 30




BRIl miee 141|& 33 0.09|h5<Y |EfE 65 3| K 1 30
BRIl mfE2 141|& 34 0.07|h3<Y |EfE 65 3| FK 1 30
gRiLTH miee 141|& 35 0.1|h5TY |EE 65 3| Fk 1 30
BRIl miee 141|156 4 0.07|2% BfE 57 35| B4R 10 29
gL miee 1415 5 0.18| X¥F HE 57 89( 4K 26 29
gL miee 1415 6 0.09| R HE 57 45 4K 13 29
gL miee 141|5  |7m 0.13|R¥ HE 55 63 4K 18 29
BRIl miee 1415 |7 0.04| 2% BfE 57 20( FK 6 30
gRiLT miee 141 |7= 0.22| A% BfE 67 17| FK 35 30
gRiLT miee 141|156 8 0.01|h5<Y |EE 68 3| K 1 30
gRiLT miee 141|156 1 0.06| 2% BfE 69 16 F4K 4 25
BRIl miee 141[5 12 0.08| 2% HE 69 16| K 4 25
BRIl miee 141|Y 14 0.14|R¥F HE 44 58| F4k 17 29
BRIl miee 141|Y 4n 0.09| R ¥ HE 56 44 FHK 13 30
BRIl e 141|Y 6 0.07|R¥F HE 58 35 FK 10 29
BRIl e 141(Y 8 0.07| A% HE 77 39 FK 11 28
BRIl e 141(Y 9 0.03| A% HE 77 17| FK 5 29
BRIl e 141(Y 10 0.04| A% HE 54 19| K 5 26
BRIl e 141(Y 11 0.05| 2% HE 77 28( FK 8 29
BRIl mfae 141(Y 12 0.04| 2% HE 77 22( K 6 27
gRiLT mfae 141|Y 13 0.03| 2% BfE 77 17| 4Kk 5 29
BRIl mfae 141(Y 14 0.04| A% HE 77 22( K 6 27
BRIl mfae 141(Y 15 0.14| A% HE 77 78| FHK 23 29
BRIl e 141(Y 160 0.07|RF BHE 72 38 FK 11 29
gRilTH miEe 141(Y 17 0.16| A% HE 50 73| FHHK 21 29




BRIl miee 141(Y 24 0.09| 2% HE 76 6| 5K 1 17
BRIl miee 141(Y 260 0.05| R HE 67 27 FK 8 30
BRIl miee 141(Y 26/ 0.08|h5<Y |EfE 62 24( F4K 7 29
gRiLTH mfEs 141]Y 27 0.22| 2% HE 57 109 B4R 32 29
gRILTH mfEe 141|Y 28 0.1|R¥F HE 57 35 FR 10 29
gRILTH mfEe 141|Y 29 0.21| A% HE 57 64 F4K 19 30
gRILTH mfEe 141|Y 43 0.1|R¥F HE 49 45 FI4R 13 29
gL miee 1420y 1 0.06| 2% BHE 64 15| B4k 4 27
gRiLT miEe 1420y 4 0.1|R¥F BfE 63 51| FI4K 15 29
gRiLT miee 142[Ly |50 01|hs<y |EE 55 28| B4R 8 29
gRiLT miee 142(Ly |64 0.12| A% BfE 55 24| FHK 7 29
gRILH miee 142[Ly  |6m 0.23| ¥ HE 72 126 4K 37 29
gL miee 142[Ly |61 0.01|RF HE 72 5| FI4K 1 20
gRILH miee 142[Ly  |7m 0.36| A¥F HE 57 178 F4K 53 30
gRiLT e 142Ly |84 0.05| A% BfE 70 27| FHK 8 30
gRILH e 142[Ly  |8m 0.12|RF HE 57 59| F4K 17 29
gRiLT e 142(Ly |94 0.11| A% BfE 54 53| FI4K 15 28
gRiLT mige 1420y 13 0.25|AF BfE 42 71| B4R 21 30
gRiLT mige 1420y 14 0.08| AF BfE 57 40| FHK 12 30
gRiLT mige 1420y 15 0.12|AF BfE 77 67| FK 20 30
gRiLT miEe 1420y 16 0.12|AF BfE 57 59| B4R 17 29
gRiLT mige 1420y 20 0.16|RF BfE 56 78| FK 23 29
gRiLT mfae 142(%5 |51 0.17| A% BfE 56 83| B4R 24 29
gRiLT e 142(% |5 01|hs<y |ERE 56 28( Fk 8 29
gRilTH miEe 142|% |51 0.1|R¥ HE 50 27| FK 8 30




BRIl miee 142(% 6 0.04| 2% HE 57 10| ik 3 30
BRIl miee 142(% 6 0.04|H5<Y |BE 57 6| Fltk 1 17
BRIl miee 142|% 7 0.06| 2% HE 56 15| B4k 4 27
BRIl miee 142(% 7 0.06|H5<Y |EE 56 8| Flk 2 25
BRIl miee 142(% 8 0.05|h5<Y |#E 57 14| K 4 29
BRIl miee 142|1& |21 0.13| 2 DMtLL | BB 21 4 FK 1 25
gL miEe 14212 |4m 0.05|XF HE 62 26( 4K 7 27
BRIl miee 142|1z |54 0.04| 2% BfE 62 20| FHK 6 30
BRIl miee 1421z |64 0.03|X¥F HE 62 15| FlK 4 27
gL miee 1421 |8m 0.18| A¥F HE 44 75| FHK 22 29
BRIl miee 1421 9 0.09| R ¥ HE 55 44 FHK 13 30
BRIl miee 1421 1 0.27|R¥F HE 45 114 F4K 34 30
BRIl miee 1421 12 0.12|RF HE 77 40 FK 12 30
BRIl miee 1421 13 0.06| ¥ HE 73 33 FK 9 27
gRiLT e 1421z |74 0.06| 2% BfE 67 32| FHK 9 28
BRIl e 1421 19 0.08| ¥ HE 55 24 FK 7 29
BRIl e 1421|201 0.15|RF HE 42 59| F4K 17 29
gRiLT e 1421z 214 0.07| A% BfE 77 39| FHK 11 28
gRiLT e 1421z 221 0.12| A% BfE 77 67| F4K 20 30
gRILTH mfae 1421 23 0.13| R¥F HE 47 57 FK 17 30
gRiLT mfae 142(I1< 25 0.11|R¥ BfE 55 24| FHK 7 29
gRILTH mfae 1421 26 0.1|R¥F HE 55 39 FK 11 28
gRiLh mfae 1421 27 0.14|RF HE 37 48( FK 14 29
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BRIl Infd 152(5 9 0.15| A% HE 55 5| FI4K 1 20
gRiLT It 152|5 14 0.04| 2% BfE 59 20| B4R 6 30
gRiLT It 152|5 15 0.03|x% BfE 59 15 F4k 4 27
gRiLT It 152|5 17 0.18|h5<Y |EE 59 53| B4R 15 28
gRiLT It 152|5 18 0.16|h5<Y |EE 57 46| B4R 13 28
BRIl Infd 1525 20 0.06| 2% HE 57 5| B4k 1 20
BRIl Infd 152(5 20 0.06| A% BHE 72 5| B4k 1 20
gRilTH ks 1525 22 0.05| A% HE 70 27| FK 8 30




BRIl i 152|5 23 0.31| A% HfE 67 165| G4k 49 30
BRIl IntE 1526 25 0.04| 2% HE 67 21| FHK 6 29
BRIl IntE 1526 26 0.07|2% HE 57 35 FK 10 29
gRILTH IntE 1526 28 0.11|R¥F HE 56 54( 4K 16 30
BRIl IntE 152|5 29 0.09[ 2% BfE 58 45 FK 13 29
gRILTH IntE 1526 30 0.1|R¥F HE 72 55 4K 16 29
gRILTH oY 152(5 31 0.11|RF HE 67 58( FIl4K 17 29
gRILT s 152|5 32 0.02| R ¥ HE 56 10 Fk 3 30
gRiLT i 152|5 33 0.12|x% BfE 57 59| B4R 17 29
gRiLT i 152|5 34 0.22| 2% BfE 57 109 F4k 32 29
BRIl Intd 152(5 35 0.06| 2% HE 57 30 FK 9 30
gRiLT i 152|5 36 0.06| 2% BfE 55 29| FHK 8 28
gRiLT i 152|5 37 0.16| 2% BfE 55 78| FK 23 29
BRIl Intd 152(5 38 0.07| A% HE 67 37| K 11 30
gRiLT It 152|5 39 007|2% BfE 57 35| FK 10 29
gRiLT It 152|5 40 0.1|R¥F BfE 67 53| FI4K 15 28
BRIl Infd 152(5 41 0.16| A% HE 67 85 Fk 25 29
gRiLT It 152|5 42 1|1 2% BfE 70 547| K 164 30
gRiLT It 152|5 43 0.39[ 2% BfE 54 187| F4K 56 30
gRiLT It 152(5 444 0.22| A% BfE 52 52| B4R 15 29
gRiLT It 152(5 440 0.16| 2% BfE 57 79| FK 23 29
gRiLT It 152|5 45 0.83| 2% BfE 77 465| B4R 139 30
BRIl Infd 1525 46 0.1|R¥ HE 57 40 FHK 12 30
gRiLT It 152|5 49 0.1|R¥F BfE 62 51 B4R 15 29
BRIl ks 1525 50 0.13| A% HE 69 69| F4K 20 29




BRIl IntE 1526 51 0.08[ 2% HE 63 41| FHK 12 29
gRILTH i 152|5 53 0.12| 2% HfE 67 64| FI4K 19 30
BRIl IntE 1526 54 18| A% HfE 63 184 F4K 55 30
R InfE 152|156 54 18|h3<y |EfE 63 107| F4K 32 30
gRILTH oY 152(5 55 0.95| 2% HE 77 353| Flk 105 30
R InfE 152|156 55 095|h5<Y |(EfE 77 108 FK 32 30
gRILTH oY 152(5 58 0.07| A% HE 45 30 FI4K 9 30
BRIl i 152|5 59 0.21| A% BfE 49 95| FIk 28 29
gRiLT i 152|5 60 0.16| 2% BfE 49 72| B4R 21 29
gRiLT i 152|5 61 0.1|R¥F BfE 49 45| B4R 13 29
BRIl Intd 152(5 65 0.07| A% HE 57 20( F4K 6 30
gRiLT i 152|5 66 0.15| 2% BfE 45 63| F4K 18 29
BRIl Intd 153[Ly 1 6.02| 2% HE 65 3197| B4k 959 30
BRIl Intd 153[Ly 3 2.18| 2% HE 57 1079 Flk 323 30
BRIl Infd 153[Ly 4 0.77| A% HE 57 381 Flk 114 30
BRIl Infd 153[Ly 6 0.65| A% HE 54 312| FK 93 30
BRIl Infd 153[Ly 7 0.6|R¥ HE 52 281 Flk 84 30
BRIl Infd 153[Ly 8 025|h5<y |EE 67 78| FHK 23 29
gRiLT It 1535 1 0.09[ 2% BfE 64 46| B4R 13 28
gRiLT It 1535 3 0.04| 2% BfE 57 25| B4R 7 28
gRiLT It 1535 4 0.1|R¥F BfE 57 62| FK 18 29
gRiLT It 1535 5 0.18| 2% BfE 57 12| Kk 33 29
gRiLT It 1535 6 0.15| 2% BfE 67 100( FI4k 30 30
gRiLT It 153[% 7 0.06| 2% BfE 67 40| FHK 12 30
gRilTH ks 153|% 8 0.07| A% HE 65 37| FK 11 30




BRIl i 153|% 9 0.05(2% HfE 65 33| FK 9 27
gRILTH s 153|% 10 007|R¥ HfE 65 37| FIR 11 30
gRILTH i 153|% 12 0.17|R¥ HfE 42 67| F4K 20 30
R InfE 153|% 13 0.4|R¥ BHE 64 128 FK 38 30
R InfE 153|% 14 052(h5<Y |(EE 79 175 FK 52 30
R InfE 153|% 16 0.72|R¥ HE 67 481( FIK 144 30
R InfE 153|% 17 03| R¥ BHE 77 214 Bk 64 30
gRILTH oY 153|% 19 0.05| 2% HE 49 28( 4K 8 29
gRiLT i 153|(% 2 0.25| 2% BfE 72 71| B4R 21 30
gRiLT Intd 1531 3 033|h5<Y |EE 62 30 Fk 9 30
gRiLT i 153|(% 3 0.33| 2% BfE 72 88| FK 26 30
gRiLT i 153|(% 5 0.24| 2% BfE 53 14| FK 34 30
gRiLT i 153|(% 6 0.04| 2% BfE 67 21| FHK 6 29
gRiLT i 153|(% 7 0.08[x % BfE 59 40| FHK 12 30
gRiLT It 153|(% 8 0.71|=x% BfE 68 303| FI4R 90 30
gRiLT It 153|(% 12 0.1|R¥F BfE 65 53| FI4K 15 28
BRIl Infd 153|1% 16 0.04| A% HE 65 21| FK 6 29
gRiLT It 153|(% 19 047|2% BfE 59 237| B4R 71 30
gRiLT It 153|(% 20 0.37|x% BfE 60 189 FI4k 56 30
gRiLT It 153(1% 214 0.29| A% BfE 62 148 F4k 44 30
gRiLT It 153(1%  |21m 0.4|RF BfE 65 212| B4R 63 30
gRiLT It 153[1%  [21n 0.24| 2% BfE 48 53| B4R 15 28
gRiLT It 153|(% 22 0.17|h5<Y |EE 65 53| B4R 15 28
gRiLT It 153(1% 234 0.64| A% BfE 65 340 B4R 102 30
gRilTH ks 1531 24 025|h5<y |EE 65 78| FIK 23 29




BRIl IntE 1531 25 0432 ¥ HE 55 15| ik 4 27
gRILTH i 153|(% 25 0432 ¥ HfE 80 177| 5K 53 30
BRIl IntE 1531 27 0.03[x¥ HE 67 16| ik 4 25
BRIl IntE 153(1%  |28m 0.22|z¥ BE 65 17| FK 35 30
gRILTH IntE 153|1& 29 0.01|RF HE 57 5[ Ftk 1 20
BRIl IntE 1531 30 0.05| 2% BfE 62 26( FK 7 27
R InfE 153]I< 1 012(h5<Y |(EE 64 18| FK 5 28
gRILTH oY 1531 1 0.12|R¥F HE 67 32 FK 9 28
BRIl Intd 1531 2 0.03|h5<Y |EE 64 6| FIIK 1 17
gL Intd 1531 3 0.08|h5<y |EE 64 24 FHK 7 29
BRIl Intd 1531 4 0.04| X ¥ HE 62 20( F4K 6 30
BRIl Intd 1531 7 0.18|h5<y |EE 60 53| F4k 15 28
BRIl Intd 1531 9 0.04|h5<Y |EE 62 12| K 3 25
BRIl Intd 1531 11 0.06|h><Y |EE 62 18] FlK 5 28
BRIl Infd 153|1= 12 0.03|h5<Y |EE 62 9| FIIK 2 22
BRIl Infd 1531 15 0.08| ¥ HE 57 15| FiltK 4 27
BRIl Infd 1531 15 0.08|h5<y |EE 57 14| K 4 29
BRIl Infd 153|1= 30 0.03| R ¥ HE 53 5| FI4K 1 20
BRIl Infd 1531 31 0.03| R ¥ HE 65 1| FK 3 27
BRIl Infd 153|1= 31 0.03|h5<Y |EE 65 3| FK 1 30
gRiLT It 153(I1< 32 0.03| 2% BfE 49 14 4K 4 29
gRiLT It 153(I1< 33 0.03| 2% BfE 49 14 4K 4 29
gRiLT It 153(I1< 36 0.04| 2% BfE 49 18 F4k 5 28
BRIl Infd 1531 37 0.02| R¥ BHE 65 1] FK 3 27
gRilTH ks 153|1= 39 0.02| RF HE 66 1] FK 3 27




R InfE 15312 M 0.42|R¥ BE 72 1] FK 3 27
gRILTH s 153(I 42 0512 % HfE 72 38| F4k 11 29
R InfE 153]1< 43 0.29|R¥ BE 72 1] FK 3 27
gRILTH oY 1583|1444 2.03|AF HE 77 230| FK 69 30
gRILTH s 155[Ly 2 1.28| 2% HE 77 717| FK 215 30
gRILTH oY 155|135 |14 0.39| R ¥ HE 60 102 4K 30 29
gRILTH oY 155|135 |14 039|h5<Y |EfE 60 56( FI4K 16 29
gRILTH oY 155|%  |1m 041|h5<y |EfE 59 35 4K 10 29
gRiLT i 155(% |24 0.22| A% BfE 55 44| FHK 13 30
gRiLT i 155(% |24 022|h5<Y |EE 55 36| FK 10 28
gRiLT i 155(% |34 0.13| A% BfE 55 63| F4K 18 29
gRiLT i 155(% |44 0.13| A% BfE 80 74| FK 22 30
gRiLT i 155(% 5 0.06|H5<Y |EE 67 19 F4K 5 26
gRiLT i 155(% 6 0.63| 2% BfE 72 345| B4R 103 30
gRiLT It 155(% 7 021|h5<Y |EE 67 66| FI4K 19 29
gRiLT It 155(% 8 0.36| 2% BfE 62 184 FI4K 55 30
gRiLT It 155(% 9 0.15| 2% BfE 59 76| F4K 22 29
gRiLT It 155(% 10 0.1|R¥F BfE 61 51| F4K 15 29
gRiLT It 155(% 1 0.37|x% BfE 79 207| B4R 62 30
gRiLT It 155(% 12 047|2% BfE 79 263| FI4R 78 30
gRiLT It 155(% 13 0.22| 2% BfE 72 120 F4k 36 30
gRiLT It 155(% 16 057|x% BfE 70 33| FHK 9 27
gRiLT It 155(% 16 057|h3<Y |EE 70 75| B4R 22 29
gRiLT It 155(% 17 145|h5<y |EBE 72 189 F4k 56 30
gRilTH ks 155|% 21 0.33| A% HE 56 15| K 4 27




BRIl i 155|% 23 0.22|x% HfE 56 108 4K 32 30
BRIl IntE 155\  |244 0.37|R¥F HE 57 183 4K 54 30
gRiLTH i 155(%  |24m 1.83| 2% HE 72 1001| B4R 300 30
gRILTH oY 1551 1 257| A% HE 56 250 FlK 75 30
BRIl IntE 155(1%  |3m 0.59| A% BfE 55 286| F4K 85 30
BRIl IntE 155(1% 4 0.39[ 2% BfE 66 207| B4R 62 30
BRIl IntE 155(1% 5 19|h5<y |HE 69 178 F4k 53 30
R s 1551 |64 0.61|RF HE 59 187 F4K 56 30
gRiLT i 155(1% |64 061|h3<y |BE 59 70| FK 21 30
gRiLT i 155(1%  |6m 0.63| A% BfE 44 328| F4K 98 30
gRiLT i 1551 |14 0.28| A% BfE 65 74| FK 22 30
BRIl Intd 1551 |1m 0.78|h5<y |EE 77 81| Fk 24 30
gRiLT i 15512 |24 0.11| A% BfE 64 56| F4K 16 29
gRiLT i 15512 |34 0.17| A% BfE 56 83| FK 24 29
gRiLT It 1551 |44 021| A% BfE 63 107| F4K 32 30
gRiLT It 1551 |54 1.71|R¥ BfE 53 812| B4R 243 30
BRIl Infd 1551 |5m 248|h5<y  |EE 62 220| FK 66 30
gRiLT It 155(1F% |24 027| A% BfE 70 148 F4k 44 30
gRiLT It 155|(F 3 0.13|h5<Y |EE 58 38| FK 11 29
gRiLT It 155(1F% |44 1.05| 2% BfE 74 459| B4R 137 30
gRiLT It 155(1F  [|4n 0.24| 2% BfE 74 104 F4k 31 30
gRiLT It 155(1F% |4k 0.28| A% BfE 74 120 F4k 36 30
gRiLT It 155|(F 5 0.32| 2% BfE 58 160( FI4k 48 30
gRiLT Infd 155|~ 1 0.43[ 2% BfE 54 206| FI4R 61 30
BRIl ks 155|~ 2 02|R¥ HE 72 109 F4k 32 29




gRILTH s 155|~ 3 0.39| ¥ BifE 42 154 B4R 46 30
gRILTH nfs 155~ 4 1.24( 2% BifE 54 595| Flk 178 30
gRILTH nfE 155\~ |54 0.75| X ¥ HE 45 317| FK 95 30
gRILTH i 155/~ [5m 0.41| A% BfE 74 224| FK 67 30
R InfE 155|~ 6 05| R¥F HE 45 211 B4k 63 30
R InfE 155|~ 7 0.03|R¥ HE 55 15| FK 4 27
R s 156|ULY 1 3.69|R¥ BHE 56 181 FK 54 30
R s 156|ULY 1 3.69|R¥ BHE 77 414 Bk 124 30
BRIl Intd 156[Ly |24 0.97|R¥F HE 67 154( 4K 46 30
gRILH Intd 156[Ly  |2m 0.73| R¥F HE 67 17| FK 35 30
gRiLT i 1560y 3 1.22| 2% BfE 65 451 B4R 135 30
gRiLT i 156Uy 4 0.79| AF BfE 65 292| B4R 87 30
gRiLT i 1560y 6 346|RAF BfE 68 919| Flk 275 30
gRiLT i 156Uy 7 0.23| AF BfE 67 21| FHK 6 29
gRiLT It 1560y 8 0.88| AF BfE 65 419 B4R 125 30
gRiLT It 1560y 9 027|AF BfE 71 120 F4k 36 30
gRiLT It 1560y 10 0.58| AF BfE 77 258| B4R 77 30
gRiLT It 1560y 1 057|AF BfE 66 239 B4R 71 30
BRIl Infd 156(LY 12 0.52| A% HE 68 244| FK 73 30
BRIl Infd 156[LY 12 0.52| A% HE 78 34 K 10 29
gRiLT It 156(% 1 0.23| 2% BfE 74 126 FI4k 37 29
BRIl Infd 156|% 2 0.19| A% HE 69 96 F4k 28 29
BRIl Infd 156|% 3 0.15| A% HE 75 73| FHHK 21 29
BRIl Infd 156|% 7 0.23| A% BHE 57 45 FK 13 29
gRilTH ks 156|% 8 0.34| A% HE 61 138 F4k 41 30




BRIl IntE 156|% 9 1.82| ¥ BifE 57 178 4K 53 30
BRIl IntE 156|% 9 1.82| =¥ BifE 77 196( ZI4K 58 30
gRILTH nfE 156|% 10 1.64| 2% BifE 62 250 FK 75 30
gRILTH oY 156|% 1 6.39| ¥ HE 62 654 Flk 196 30
gRILTH IntE 157[Ly 1 1.12| =% HE 68 239 Flk 71 30
gRILTH oY 157|Ly 2 0.49| R ¥ HE 58 50 FI4K 15 30
gRILTH oY 157|Ly 3 0.24| R ¥ HE 63 26( 4K 7 27
gRILTH oY 157|Ly 5 0.93| R¥ HE 52 38( Fk 1 29
BRIl Intd 157|Ly 6 0.46| A% HE 52 150( %4k 45 30
BRIl Intd 157|Ly 7 0.65| 2% HE 74 66| FIiK 19 29
BRIl Intd 157|Ly 8 0.44| 2% HE 74 49 FK 14 29
BRIl Intd 157|Ly 9 0.7|R¥ HE 68 149 FI4K 44 30
BRIl Intd 157|Ly 10 0.3|R¥ HE 68 64| FiK 19 30
BRIl Intd 157|Ly 11 0.43| A% HE 69 96 F4k 28 29
BRIl Infd 157|Ly 12 0.85| A% HE 55 39 FK 11 28
BRIl Infd 157|Ly 12 0.85| A% HE 70 93| FHk 27 29
BRIl Infd 157|Ly 13 0.52| A% HE 67 12| F4K 33 29
BRIl Infd 157|Ly 15 0.43| A% HE 70 93| FHk 27 29
BRIl Infd 157|Ly 16 0.65| A% HE 73 142 F4K 42 30
gRiLT It 157[Ly 17 0.63| A¥ BfE 63 194 F4k 58 30
gRiLT It 1575 2 0.65| 2% BfE 55 223| B4R 66 30
gRiLT It 1575 4 0.34| 2% BfE 60 36| B4R 10 28
gRiLT It 1575 5 0.45( 2% BfE 66 48| B4R 14 29
gRiLT It 1575 6 047|2% BfE 77 106 FI4k 31 29
gRilTH ks 157|% 8 0.48| A% HE 74 104 F4k 31 30




BRIl i 157|% 9 0.34| 2% HfE 58 50| 4K 15 30
BRIl IntE 157(»  |104 0.12| 2% HE 46 51| F4K 15 29
gRILTH i 157|%»  [1om 0.17| A% HfE 75 28| FK 8 29
R InfE 157|% 11 05| RF BHE 67 106 FK 31 29
gRILTH oY 157|% 12 0.26| A% HE 66 64 4K 19 30
R InfE 157|% 13 0.44| 2% HE 66 17] K 35 30
gRILTH oY 157|% 16 0.15|XF BHE 72 104 4K 31 30
gRILTH oY 157|% 17 0.06| 2% HE 57 37| FK 1 30
gRiLT i 1575 18 0.15| 2% BfE 57 93| FK 27 29
gRiLT i 1575 19 0.12|x% BfE 57 75| B4R 22 29
gRiLT i 157(1&  |1m 0.15| 2% BfE 44 62| F4K 18 29
gRiLT i 157(1% |24 0.23| A% BfE 75 84| B4R 25 30
gRiLT i 157(1%  |2m 0.18| A% BfE 45 76| F4K 22 29
BRIl Intd 157|1& |34 0.16| R ¥ HE 43 28( FK 8 29
gRiLT It 157(1%  |3m 0.04| A% BfE 45 17| 4K 5 29
gRiLT It 157(1% |44 0.08| 2% BfE 74 22| FHK 6 27
gRiLT It 157(1%  |4m 0.11| A% BfE 45 46| B4R 13 28
gRiLT It 157(1% |51 0.13| A% BfE 18 17| 4k 5 29
gRiLT It 157(1% |5 0.16| A% BfE 18 21| FHK 6 29
BRIl Infd 157|1& |64 0.06| X ¥ HE 18 8| FIK 2 25
gRiLT It 157(1%  |6m 0.1|R¥F BfE 18 13 4Kk 3 23
gRiLT It 157|(% 7 0.38| 2% BfE 58 190 F4k 57 30
gRiLT It 157(1% |8 1.33| 2% BfE 18 172| B4k 51 30
BRIl Infd 157|1% 10 0.06| A% BHE 18 8| FIK 2 25
BRIl ks 1571 11 0.22| A% HE 18 28( FHK 8 29




gRILTH s 157|1% 12 0.15| 2% HfE 18 19 Fk 5 26
BRIl IntE 1571 13 0.2|R¥ HE 18 26( FK 7 27
gRiLTH i 157|1% 14 0.23| 2% HfE 59 56| 4K 16 29
gRILTH oY 1571 14 0.23| A% HE 70 66( 4K 19 29
gRILTH oY 1571 15 0.16| ¥ HE 68 53 FI4K 15 28
R InfE 157|1% 15 0.16|h><Y |(EE 68 19| K 5 26
gRILTH oY 1571 16 0.14| R ¥ HE 72 77 FK 23 30
gRILTH oY 1571 17 033|h5<y |EE 63 98( FI4K 29 30
gRiLT i 157(1&  |191 0.07| A% BfE 55 34| FHK 10 29
gRiLT i 157(1&  |19m 0.15| 2% BfE 63 77| FHK 23 30
gRiLT i 157(1%  |201 0.11| A% BfE 54 53| F4K 15 28
gRiLT i 157|1% 21 0.14| 2% BfE 59 71| B4R 21 30
gRiLT i 157|1% 22 0.13| 2% BfE 58 65| F4K 19 29
gRiLT i 157|1% 23 0.08[x % BfE 18 10[ F4K 3 30
gRiLT It 157|(% 27 0.09[ 2% BfE 67 48| B4R 14 29
gRiLT It 157(1% 284 0.14| A% BfE 63 31| FHK 9 29
gRiLT It 157(1%  |28m 0.06| 2% BfE 45 25| B4R 7 28
gRiLT It 157(1% 281 0.04| A% BfE 63 10 F4k 3 30
gRiLT It 157|(% 29 0.17|2% BfE 66 32| FHK 9 28
gRiLT It 157|(% 30 0.16| 2% BfE 75 90| FK 27 30
gRiLT It 157|(% 31 007|2% BfE 70 38| FK 11 29
gRiLT It 157|(% 34 0.27|x% BfE 57 89| B4R 26 29
gRiLT It 157|(% 35 0.05| 2% BfE 57 15 F4k 4 27
gRiLT It 157|(% 36 0.18| 2% BfE 49 81| FK 24 30
gRilTH ks 1571 37 0.02| A% HE 49 9| FIK 2 22




BRIl IntE 1571 38 0.05(2% HE 55 19| K 5 26
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gRILTH s 158Uy 2 1.36| 2% HE 56 466 FlK 139 30
gRILTH s 158[Ly 2 1.36|h5<y  |EifE 60 80[ %K 24 30
gRILTH nfd 158Uy 2 1.36| 2 HE 77 78 4K 23 29
gRILTH oY 158[Ly |34 0.62|XA¥F HE 78 347| FK 104 30
gRILTH oY 158[LY 4 0.09| R ¥ HE 77 50 FI4K 15 30
BRIl Intd 158[LY 5 0.3|R¥F HE 58 75| FHK 22 29
BRIl Intd 158[Ly 6 0.15| 2% HE 55 7| FPK 2 29
BRIl Intd 158[Ly 6 0.15| 2% HE 74 33 FK 9 27
BRIl Intd 158[Ly |74 0.16| R ¥ HE 58 23 FK 6 26
BRIl Intd 158[Ly |74 0.16|h><y |EE 58 10| FiK 3 30
BRIl Intd 158[Ly  |7m 0.09| R ¥ HE 58 13| K 3 23
BRIl Infd 158[Ly  |7m 0.09|h5<Y |EE 58 6| FIIK 1 17
BRIl Infd 158[Ly 8 0.13| A% HE 57 64| FiK 19 30
BRIl Infd 158[Ly |94 0.26| A ¥ HE 63 133 F4K 39 29
BRIl Infd 158[Ly  |9m 0.24|R¥ HE 63 123 F4K 36 29
BRIl Infd 158[Ly 10 1.12( =¥ HE 56 495 FK 148 30
gRiLT It 158Uy 10 1.12| ¥ BfE 72 60| FI4K 18 30
gRiLT It 158Uy 11 0.3|R¥F BfE 64 123 F4k 36 29
gRiLT It 158Uy 11 0.3|R¥F BfE 75 34| FHK 10 29
gRiLT It 158Uy 12 0.17|RF BfE 78 95| F4K 28 29
gRiLT It 158Uy 13 0.15|RF BfE 55 73| FK 21 29
BRIl Infd 158[Ly 14 0.23| R ¥ HE 60 18| F4k 35 30




R nfd 158|Ly 15 0.02| R BE 74 1] FK 3 27
gRILTH i 158|LY 16 0.33| 2 ¥ BifE 74 181| F4R 54 30
R nfs 158|LY 17 0.22| ¥ BE 65 1] FK 3 27
R s 158|Ly 17 0.22| ¥ BHE 74 109 FK 32 29
gRILH oY 158[Ly 18 0.12| A% HE 61 61| FiK 18 30
gRILH IntE 158Uy 19 0.11|RF HE 60 56( 4K 16 29
gRILH oY 158[LY 20 0.06| 2% HE 78 34 FIK 10 29
gRILH oY 158Uy 21 0.13| A% HE 69 69 4K 20 29
gRiLT i 158Uy 22 0.23| AF BfE 57 14| FK 34 30
gRiLT i 158Uy 23 0.24| AF BfE 60 123 F4k 36 29
BRIl Intd 158[Ly 24 0.09| R HE 65 48( Fk 14 29
gRiLT i 158Uy 25 0.07|RAF BfE 75 39| FHK 11 28
gRiLT i 158Uy 26 0.11|RF BfE 62 56| F4K 16 29
gRiLT i 158Uy 27 0.06| RF BfE 60 31| FHK 9 29
gRiLT It 158(Ly 28 0.08| A ¥ BfE 57 40| FHK 12 30
BRIl Infd 158[Ly 29 0.07| A% HE 48 27| FK 8 30
BRIl Infd 158[Ly 29 0.07| A% HE 54 5| FI4K 1 20
gRiLT It 158(Ly 30 0.06| AF BfE 50 19 F4Kk 5 26
BRIl Infd 158[Ly 31 0.18| A% HE 50 82( Fk 24 29
BRIl Infd 158[LY 32 0.05| A% HE 50 23 FK 6 26
gRiLT It 158(% 1 0.36| 2% BfE 72 249| B4R 74 30
gRiLT It 158(% 2 0.4|RF BfE 72 277| B4R 83 30
gRiLT It 158(% |34 0.34| A% BfE 41 167| F4K 50 30
BRIl Infd 158|%  |3n 0.16| R BHE 45 85 Fik 25 29
gRilTH ks 158|% 4 0.23| A% HE 55 12| Kk 33 29




BRIl IntE 1585 |54 0.18| A% HE 76 101| B4R 30 30
R InfE 158|5 |51 0.17|R¥ BE 36 57 Bk 17 30
gRiLTH i 158|%» 5= 0.12| 2% HfE 32 35| FK 10 29
BRIl IntE 158(% 6 0.18| A% BE 52 106 F4k 31 29
BRIl IntE 158(% 7 0.12| A% HE 61 61| F4K 18 30
BRIl IntE 158(% 8 0.05| 2% BfE 58 25 Fk 7 28
BRIl IntE 158(% 9 0.09[ 2% BfE 57 45 FK 13 29
gRILTH oY 158|% 10 0.16| XA ¥ HE 65 32 FK 9 28
gRiLT i 158(% 1 0.13| 2% BfE 59 66| FI4K 19 29
gRiLT i 158(% 12 0.17|2% BfE 63 87| FK 26 30
gRiLT i 158(% 13 0.55| 2% BfE 52 258| B4R 77 30
gRiLT i 158(% 14 0.13| 2% BfE 56 80| Bk 24 30
gRiLT i 158(% 15 0.27|x% BfE 57 168 FI4k 50 30
gRiLT i 158(% 16 0.56| 2% BfE 52 329 B4R 98 30
gRiLT It 158(% 17 0.2|R¥ BfE 54 60| FI4K 18 30
gRiLT It 158(% 17 0.2|R¥ BfE 55 61| F4K 18 30
BRIl Infd 158|% 18 0.11|RF HE 54 18] FltK 5 28
gRiLT It 158(% 18 0.11| A% BfE 57 19 F4Kk 5 26
gRiLT It 158(% 18 0.11| A% BfE 62 32| FHK 9 28
gRiLT It 158(% 19 0.12| =% BfE 67 80| B4R 24 30
gRiLT It 158(% 20 0.06| 2% BfE 74 42| FHK 12 29
gRiLT It 158(% 21 047|2% BfE 73 222| B4R 66 30
gRiLT It 158(% 21 047|h5<Y |EE 78 66| FI4K 19 29
gRiLT It 158(% 22 0.27|x% BfE 64 173| B4k 51 29
gRilTH ks 158|% 23 0.19| A% HE 67 127| 4K 38 30




BRIl i 158|% 25 0.39[ 2% HfE 7 270| FlK 81 30
BRIl IntE 158(% 26 0.13| A% HE 57 81| FK 24 30
gR LT InfE 1585 27 0.08(h5<Y |(EfE 62 15| F4K 4 27
gL oY 158|% 27 0.08| 2% HE 64 26( 4K 7 27
BRIl IntE 158(% 28 01|h3<y |EE 62 23 K 6 26
gRILTH i 158|% 28 0.1|R¥F BfE 64 26| FK 7 27
BRIl IntE 158(% 29 0.26| 2% BE 79 185 F4k 55 30
BRIl IntE 158(% 30 0.24| 2% BE 57 19| Fk 35 29
BRIl Intd 158|1& |14 0.06| ¥ HE 52 28( FK 8 29
gRiLT i 158(1&  |1m 0.08| 2% BfE 54 38| FK 11 29
gRiLT i 158|(% 2 0.08[x % BfE 53 38| FK 11 29
gRiLT i 158|(% 3 0.21|=x% BfE 57 104 F4k 31 30
gRiLT i 158|(% 4 0.1|R¥F BfE 57 50| 4K 15 30
gRiLT i 158|(% 5 0.12|x% BfE 66 64| FI4K 19 30
BRIl Infd 158]1% 6 0.07| A% HE 53 33 FK 9 27
BRIl Infd 158]1% 7 0.05| 2% HE 42 20( FK 6 30
gRiLT It 158|(% 8 0.46| 2% BfE 55 223| B4R 66 30
gRiLT It 158|(% 9 0.18| 2% BfE 66 96| FI4K 28 29
gRiLT It 158|(% 10 0.18| 2% BfE 58 90| FK 27 30
BRIl Infd 158]1% 11 0.04| 2% HE 78 22( K 6 27
gRiLT It 158|(% 12 0.24| 2% BfE 60 123 F4k 36 29
gRiLT It 158|(% 13 0.31|r¥ BfE 52 145 FI4K 43 30
gRiLT It 158|(% 16 0.34| 2% BfE 69 165 FI4k 49 30
BRIl Infd 158|1% 16 0.34|h5<y |EE 75 10| K 3 30
BRIl ks 158|1% 17 0.18| A% HE 67 96 FIk 28 29




BRIl i 158|(% 18 0.15| 2% HfE 66 80| FK 24 30
BRIl IntE 158|1% 19 0.28| 2% HE 51 130 F4K 39 30
gRiLTH i 158(1%  |201 0.29|h3<Y |BfE 65 90| K 27 30
BRIl IntE 158(1%  |20m 0.08|H5<Y |EE 65 25 FK 7 28
BRIl IntE 158|1% 21 0.17|h3<Y |EE 59 35 K 10 29
BRIl IntE 158|1% 22 0.37|x% HE 62 189 F4k 56 30
BRIl IntE 158|1% 23 0.07|2% BfE 59 35 K 10 29
BRIl i 158|(% 24 0.98[ 2% BfE 58 490| FlK 147 30
gRiLT i 158(1% 254 0.82| A% BfE 58 285| B4k 85 30
gRiLT i 158(1% 251 082|h5<Y |HE 58 72| B4R 21 29
gRiLT i 158(1%  |25m 0.12| A% BfE 58 60| FI4K 18 30
gRiLT i 158(1% 2641 0.16| A% BfE 46 69| FI4K 20 29
gRiLT i 158(1%  |26m 0.37| A% BfE 73 164 F4K 49 30
gRiLT i 158|(% 27 0.37|x% BfE 77 174 B4k 52 30
gRiLT It 158|(% 27 037|h3<Y |EE 77 10 F4Kk 3 30
gRiLT It 158(1% 284 0.58| A% BfE 56 137| 4K 41 30
gRiLT It 158(1% 284 0.58| A% BfE 58 150( FI4k 45 30
gRiLT It 158|(% 29 0.08| 2% BfE 67 42| FHK 12 29
gRiLT It 158(1% 314 0.24| A% BfE 72 93| FK 27 29
gRiLT It 158(1% 314 024|h5<Y |EE 77 17| 4Kk 5 29
gRiLT It 158(I% |31m 0.09[ 2% BfE 72 49| FHK 14 29
gRiLT It 158(1% 321 0.3| 2% BfE 69 159 F4k 47 30
gRiLT It 158(I%  |32m 0.44| 2% BfE 49 81| B4R 24 30
gRiLT It 158(1% 321 1.36| R BfE 72 744| FAK 223 30
BRIl ks 158|1&  |32= 02(R¥ HE 72 109 F4k 32 29




BRIl IntE 158|1& |32k 0.78| A¥ HE 49 351 F4K 105 30
gRILTH i 158|1%  [32A 0.13|h3<y |BfE 72 42| FHK 12 29
gRiLTH i 158(1% 3341 0.63| 2% HfE 62 322| FlK 96 30
R s 158|1&  |33m 0.31|RF HE 62 158| Fl4K 47 30
gL IntE 158]1% 36 0.07|ZDMIL BB 30 3| K 1 30
gL IntE 158]1% 37 0.07|ZDMIL BB 40 3| K 1 30
R s 163|Ly 1 23|R¥F BHE 68 1221 B4k 366 30
R InfE 163|Ly 3 2.66|R¥ BHE 66 1412 B4k 423 30
BRIl Intd 163[Ly 4 1.24| 2% HE 57 614| Flk 184 30
BRIl Intd 163[Ly 5 3.33| A% HE 58 1665 Flk 499 30
BRIl Intd 163[Ly 6 0.45| A% HE 57 223| Flk 66 30
BRIl Intd 163[Ly 7 1.69| X ¥ HE 57 837| Flk 251 30
BRIl Intd 163[Ly 8 117|R¥ HE 67 621 Flk 186 30
BRIl Intd 163[Ly 9 0.42| A% HE 67 223| Flk 66 30
BRIl Infd 163[Ly 10 0.4|R¥ HE 57 198( 4K 59 30
BRIl Infd 163[Ly 12 0.38| A% HE 56 186( 4K 55 30
BRIl Infd 163[Ly 13 0.35| A% HE 70 115 F4K 34 30
BRIl Infd 163[Ly 14 0.09| R HE 42 36( FK 10 28
BRIl Infd 163|Ly |15 1.49(2%F HE 69 791| FK 237 30
gRiLT Y 163[Ly  |15A 0.8|R¥ BfE 57 396| 4R 118 30
gRiLT It 163[Ly 16 0.06| R ¥ BfE 56 29| B4R 8 28
gRiLT It 163[Ly 17 0.93|AF BfE 72 405| B4R 121 30
gRiLT It 163[Ly 17 093|h5<Y |EE 72 62| FK 18 29
gRiLT It 163[Ly 18 0.6| ¥ BfE 52 281| B4R 84 30
gRilTH Infd 163[Ly 19 0.26| X% HE 57 129 F4k 38 29




gRILTH s 163U 20 0.28| 2% BifE 65 149 B4R 44 30
gRILTH s 163]LY 21 0.39| ¥ BifE 42 154 B4R 46 30
gRILTH nfs 1640y 1 58| X% BrE 18 1073 Flk 321 30
gRILH s 1640y 1 58| X% A 37 1815 Flk 544 30
gRILH oY 164[L> 3 0.3|R¥ HE 69 159( FI4K 47 30
gRILH oY 164[L> 4 0.69| 2% HE 38 246 FlK 73 30
R InfE 164|ULy 5 2.39|R¥ BHE 38 851( Itk 255 30
gRILTH i 1640y 7 4.06( 2% BE 18 524( FI4K 157 30
gRiLT i 1640y 7 4.06|AF BE 37 980| Fltk 294 30
gRiLT i 164U 8 0.54| 2% BE 18 70| FK 21 30
gRiLT i 1640y 8 0.54| A% BE 64 132 F4k 39 30
gRiLT i 1640y 8 0.54| A% BE 69 63| F4K 18 29
gRiLT i 1640y 9 0.08| ¥ BfE 64 41| MK 12 29
gRiLT i 164(5 |14 317| A% BfE 69 1264| B4R 379 30
gRiLT It 164(5 |14 317| A% BfE 70 432| B4R 129 30
gRiLT It 164[5  |1m 0.64| 2% BfE 39 300| B4R 90 30
gRiLT It 1645 2 2.46( 2% BfE 53 1464| B4R 439 30
gRiLT It 164(5 |51 0.68| A% BfE 39 250 B4R 75 30
gRiLT It 164(% |51 1.67|A¥ BfE 70 913| ik 273 30
gRiLT It 164[% |5z 0.33| 2% BfE 37 14| R 34 30
gRiLT It 164(% |64 0.74| A% BfE 40 280| 4R 84 30
gRiLT It 164(%  |6m 0.25| 2% BfE 46 107| B4k 32 30
BRIl Infd 164|% |61 0.09| RF HE 52 42( K 12 29
gRiLT It 164[%  [6= 0.48(2 ¥ BfE 44 199 F4k 59 30
gRilTH ks 164|%  |6iK 02|R¥ HE 52 94| FHIK 28 30




gRILT 164|% |74 0.7|R¥ 39 257| 54K 77 30
gRILT 164|%5 |78 0.3|R¥ 64 153 F4k 45 29
gRiLTH 164|% 8 0.4|R2¥F 73 219 B4R 65 30
gL 164|% 9 03| R¥ 64 153 FK 45 29
R 164|% 10 0.57|R¥ 61 291 FK 87 30
R 164|% 12 0.24| R ¥ 54 144 FK 43 30
R 164|% 13 0.15|XF 65 100| F4K 30 30
R 164|% 14 0.94(R ¥ 66 314 Bk 94 30
BRIl 164|% 14 0.94(R ¥ 72 326( FItK 97 30
BRIl 164|% 15 0.74|RF 64 474 Bk 142 30
BRIl 164|% 16 0.31|R¥ 69 165 FK 49 30
BRIl 164|% 17 0.24| R ¥ 65 127] F4K 38 30
BRIl 164|% 18 0.28| R ¥ 65 149 FK 44 30
BRIl 164|% 21 0.28| R ¥ 69 17] FK 35 30
BRIl 164|% 24 0.59|R ¥ 65 313 Fk 93 30
BRIl 164|% 25 0.66( R ¥ 55 97( 4K 29 30
BRIl 164|% 25 0.66( X% 65 244( Bk 73 30
BRIl 1641 |2m 0.55(RF 57 272 Bk 81 30
BRIl 164|(Z 5 0.86| R ¥ a4 333 FUk 99 30
BRIl 164|1F 1 5.75| X ¥ 70 3145 FIIK 943 30
BRIl & 164|~ 3 1.75| ¥ M 677 FIK 203 30
BRIl 1T)=3 166|LY 1 0.06| X% 62 15| B4k 4 27
BRIl 1T)=3 166|LY 2 0.02|h5<Y 64 6| FK 1 17
BRIl 1T)=3 166|LY 5 0.09| X ¥ 63 41 FHK 12 29
gRilTH L& 166[LY 5 0.09|A5<3Y 63 3| K 1 30




gRILT = 166Uy 7 0.09| R ¥ 65 36( FK 10 28
gRILT 1T)=3 166[L> 8 0.12|h5<Y 42 27| K 8 30
gRILT 1T)=3 166[L> 9 0.11|R¥F 59 56 F4K 16 29
gL iiy=3 166|LY 10 0.08(A5<Y 64 17| FK 5 29
gL 1T)=3 166[L> 031|h3<TY 67 47( K 14 30
gL 1T)=3 166[L> 0.12|h5<Y 42 27| K 8 30
gL 1T)=3 166[L> 0.13|h5<Y 52 34 FK 10 29
gL 1T)=3 166[L> 16 0.18|h5<Y 70 36( FK 10 28
BRIl & 166|LY 17 0.04(H5<Y 65 6| FK 1 17
gRiLT j=3 166Uy 0.24|H5<Y 61 27| FHK 8 30
gRiLT j=3 166Uy 0.12(7h=y 45 24| FHK 7 29
BRIl & 166|LY 22 0.08(A5<Y 60 24 FK 7 29
BRIl & 166|LY 23 0.03[AZ<Y 62 9| FK 2 22
BRIl 1T)=3 166Uy 24 0.07|h5<Y 67 22 K 6 27
BRIl & 166|LY 25 0.07|hZ<Y 63 21 FHK 6 29
BRIl & 166|LY 26 0.14|h5<Y 60 42( FK 12 29
BRIl & 166|LY 28 0.13|h5<Y 63 39 K 11 28
gRiLT =3 166Uy 0.23[h5<v 70 75| B4R 22 29
BRIl & 166|LY 31 0.05|h5<Y 59 15| B4k 4 27
BRIl 11)=3 166|LY 32 0.09(H5<Y 62 27| FHK 8 30
BRIl 11)=3 166|LY 33 0.02(H5<Y 54 5| F4K 1 20
BRIl 11)=3 166|LY 35 0.06(H5<Y 61 18| B4k 5 28
BRIl 11)=3 166|LY 37 0.03[H5<Y 62 9| FK 2 22
BRIl 11)=3 166|LY 38 0.04| R ¥ 61 20( %4K 6 30
gRilTH L& 166[LY 40 0.18|h5<Y 62 53( F4K 15 28




BRIl = 166 44 0.04|h><Y 52 1] Bk 3 27
BRIl 1Tj=3 166 48 0.05|h><Y 62 15| B4k 4 27
BRIl 1T)=3 166[L> 51 0.11|h3<TY 63 33 FK 9 27
gL 1T)=3 166|% 4 0.44|h><Y 62 131 FK 39 30
gL 1T)=3 166|% 7 0.88|h5<Y 45 209 FK 62 30
gL 1T)=3 166|% 8 0.98|h5<Y 62 291| FI4K 87 30
gL 1T)=3 166|% 9 0.07|h5<Y 62 21| FK 6 29
gL 1T)=3 166|% 10 0.19|h><Y 44 44( FI4K 13 30
BRIl 1T)=3 166|% 12 0.16|h><Y 62 48( FK 14 29
BRIl 1T)=3 166|% 16 0.05|h><Y 62 15| FilK 4 27
BRIl 1T)=3 166|% 18 0.29| R ¥ 54 139 F4K 41 29
BRIl 1T)=3 166|5 24 0.73|A5<Y 45 173| F4K 51 29
BRIl 1T)=3 166|% 26 0.06|h><Y 58 17| FK 5 29
BRIl 1T)=3 166 02|h5<Y 61 59| B4k 17 29
BRIl 1T)=3 166 2 0.12|A5<3Y 61 36( FK 10 28
BRIl 1T)=3 166 3 03|h3<Y 61 89 Fk 26 29
BRIl 1T)=3 166 4 0.23|h5<Y 61 68| Fik 20 29
BRIl 1T)=3 166 5 0.05|RF 77 28( FK 8 29
BRIl 1T)=3 166 6 0.05|RF 77 28( FK 8 29
BRIl 1T)=3 166 7 0.31|h5<3Y 67 97| FHHK 29 30
BRIl 1T)=3 166 8 0.26|H5<Y 67 81| Fik 24 30
BRIl 1T)=3 166 10 0.16|H5<Y 45 38( FK 11 29
BRIl 1T)=3 166 11 0.21|RF 59 106 %4k 31 29
BRIl 1T)=3 166 13 0.19|RF 59 35 FK 10 29
gRilTH 1T)=3 166 14 0.31| A% 59 91| FHK 27 30




gRILT T3 166 15 0.34 59 86( Fk 25 29
gRILT T3 166 16 0.24 67 64| FK 19 30
gRILT 1Tj=3 166 0.05 67 27| K 8 30
gL [11)=2 166 0.49 62 250 FK 75 30
gL 1T)=3 166 20 0.18 67 48( FK 14 29
gl [1T)=S 166 21 0.36 67 191 F4K 57 30
gL 1T)=3 166 22 0.11 56 54| FK 16 30
gL [11)=2 166 23 0.25 64 74 4K 22 30
BRIl & 166 24 0.25 61 128 F4K 38 30
BRIl & 166 25 0.46 61 235 B4R 70 30
BRIl & 166 0.03 67 16| 4K 4 25
BRIl & 166 0.21 62 107| F4K 32 30
BRIl & 166 27 0.43 60 220( F4K 66 30
BRIl & 166 28 0.07 62 36| FK 10 28
BRIl & 166 29 0.13 62 39| AR 11 28
BRIl & 166 30 0.16 67 85| FIK 25 29
BRIl & 166 31 0.17 65 90( FI4K 27 30
BRIl & 166 32 0.02 65 1] FK 3 27
BRIl & 166 0.05 67 27| FAK 8 30
BRIl 11)=3 166 0.01 62 5| F4K 1 20
BRIl 11)=3 166 36 0.11 72 60( 4K 18 30
BRIl 11)=3 166 37 0.19 67 59| FIK 17 29
BRIl 11)=3 166 38 0.08 62 41| FK 12 29
BRIl 11)=3 166 39 0.12 74 66| FIiK 19 29
BRIl L& 166 0.06 61 15| B4k 4 27




BRIl =3 166]% (451 0.1|R¥ HfE 61 51| FI4K 15 29
gRILTH =3 1661 50 0462 % BifE 34 144 B4R 43 30
gRILT [11)=2 1661 51 023|h5<Y |EfE 63 68| Flk 20 29
gL Hig 167|Ly 2 04|h7<TY |BEE 58 116 FK 34 29
gL Hig 167|Ly 3 041|h3<Y |(EE 55 114] FK 34 30
gL Hig 167|Ly |64 0.34| ¥ HE 53 162 4K 48 30
gL Hig 167(Ly  |6M 0.37|R¥ BHE 55 179 F4K 53 30
) Hig 167|Ly 6= 0.08|h5<Y |EE 57 23 FK 6 26
BRIl Hig 167|Ly  [7m 007|h5<Y |(EE 57 20| AR 6 30
BRIl Hig 167|Ly |91 0.05|h5<Y |EE 55 14| K 4 29
BRIl Hig 167|Ly 114 0.35|h5<y |EE 67 109 F4k 32 29
BRIl Hig 167|Ly  |11A 024|h5<Y (B 55 66| Flk 19 29
gRiLT Hig 167(Ly 17 0.24| A% HE 59 81| Fk 24 30
BRIl Hig 167|Ly 17 024|7H<Y |(EfE 65 20| F4K 6 30
gl Hig 167(Ly  |20m 0.16|R¥ HE 57 79| K 23 29
BRIl Hig 167|Ly 21 0.19|RF HE 61 97| FHHK 29 30
gRiLT Hig 167[Ly 22 0.56| A% HE 47 170 F4k 51 30
gRiLT Hig 167[Ly 24 0.11| A% HE 77 62| FK 18 29
BRIl Hig 167|Ly 25 0.29| R¥ HE 61 56 F4K 16 29
BRIl Hig 167|Ly 25 029|h5<Y |(BiE 61 53| FK 15 28
BRIl Hig 167|Ly 26 1| R HE 59 202| F4K 60 30
gRiT Hig 167|LY 26 1\h5=y |ERE 59 147| F4K 44 30
BRIl Hig 167|Ly 27 0.13| R ¥ HE 70 71 FEK 21 30
BRIl Hig 167|Ly 28 068|h5<Y |(BiE 59 59| F4K 17 29
BRIl Hg 167|Ly 28 0.68| A% HE 62 245| B4k 73 30




gRILT Hig 167[Ly 29 0.17|R¥F BifE 55 82( ZI4K 24 29
gRILT Him 167|Ly 30 0.31|R¥ HE 59 157 4K 47 30
gRILT Him 167|Ly 32 0.33| R¥ HE 58 165 4K 49 30
gRilTH HifR 167|L> 33 0.11|=x¥ BfE 77 62| F4K 18 29
gL Hig 167|Ly 344 0.63| ¥ HE 42 123 F4K 36 29
BRIl Hig 167[Ly 35 0.15|XF HE 61 77 FK 23 30
gRILTH Hig 167(Ly  |360 0.03|h5<Y |EfE 51 8| FltK 2 25
gRILTH Hig 167[Ly 37 0.09|h35<Y |EfE 57 6| FIK 1 17
BRIl Hig 167|% 1 026|h5<Y |(EfE 55 72 Bk 21 29
BRIl Hig 167|% 2 0.12| A% HE 62 61| F4k 18 30
BRIl Hig 167|% 3 0.34| A% HE 62 123 F4K 36 29
BRIl Hig 167|% 3 034|h5<Y |(EE 62 30| FK 9 30
BRIl Hig 167|% 4 0.06| 2% HE 63 31 FK 9 29
BRIl Hig 167|% 5 053|ho<Y |(EfE 61 125| FK 37 30
BRIl HiR 167|% 7 0.26| 2% BHE 80 148 FK 44 30
BRIl Him 167|% 10 0.41|R¥F HE 60 210| F4K 63 30
BRIl Him 167|% 11 0.14| A% HE 77 78| FHK 23 29
BRIl HiR 167|% 12 0.28| R ¥ HE 64 143 FK 42 29
BRIl Him 167|% 13 0.42| A% HE 58 210| F4K 63 30
BRIl Him 167|% 14 0.07| A% HE 65 37| FK 11 30
BRIl Hig 167|% 15 005|h5<Y |(EfE 62 15| F4K 4 27
BRIl Hig 167|% 16 019|h5<Y |(EE 62 56| FK 16 29
gRiLT Hig 167|% 18 0.09| 2% HE 67 48( FK 14 29
BRIl Him 167|% 19 0.3|R¥ BHE 59 152 F4K 45 30
BRIl Hig 167|% 20 0.15| A% HE 59 76( Fi4K 22 29




gRILT Hig 167|% 24 027|h5<Y |EfE 60 80[ %K 24 30
gRILT Him 167|% 25 0.07| A% HE 70 38 K 11 29
gRILT Him 167|% 26 0.36| 2% HE 59 91| FK 27 30
gL Hig 167|% 26 0.36|h5<y |EfE 59 53 FI4K 15 28
gL Hig 167|% 27 0.09|h35<Y |EfE 61 27| FK 8 30
gL Hig 167|%  |364 0.08| ¥ HE 64 41 FK 12 29
gL Hig 167|% 39 0.27| A% HE 59 66( 4K 19 29
gL Hig 167|% 39 027|h3<Y |EE 59 41 FK 12 29
BRIl Hig 167|% 40 032(h5<Y |(EE 61 95 FItk 28 29
BRIl Hig 167|% 42 021|h5<Y |(EE 60 62| FIk 18 29
gRiLT Hig 167\  |43m 0.18| A¥F HE 55 87| Fk 26 30
gRiLT Hig 167|% 44 0.13| A% HE 57 64| FiK 19 30
gRiLT Hig 1671 4 0.16| A% HE 69 42( K 12 29
BRIl Hig 167(1% 7 0.06| 2% HE 67 32 FK 9 28
BRIl Him 167|1& |10m 0.15|RF HE 72 16| K 4 25
BRIl Him 167|1& |13m 0.06| ¥ HE 54 29[ FK 8 28
gl Hig 1671 15 0.12| A% HE 67 64| FiK 19 30
gl Hig 167|1% 16 0.17| A% HE 64 26( FK 7 27
gl Hig 167|1% 18 0.11|R¥F HE 70 60| F4k 18 30
BRIl Him 1671 19 0.04| 2% HE 77 22( K 6 27
BRIl Hig 167]1% 20 0.19|h5<Y |(BiE 64 56| FK 16 29
BRIl Him 1671 21 0.08| A% HE 53 38( FK 11 29
BRIl Him 1671 22 0.39| A% HE 53 185 F4k 55 30
BRIl Hig 167]1% 24 02| R¥ BHE 80 114 4K 34 30
BRIl Hig 1671 28 0.33| A% HE 60 169 F4K 50 30




gRILT Hig 167|1% 29 0.06| 2% HE 65 32 FK 9 28
gRILT Him 167|1% 31 0.26| A% HE 72 142 F4K 42 30
gRiLTH Him 1671 32 0.11|RF HfE 65 58| F4k 17 29
gL Hig 167|1% 34 0.16| XA ¥ BHE 60 41 FK 12 29
gL Hig 167|1% 34 0.16|h5<y |EfE 60 24( FI4K 7 29
gL Hig 167|1% 36 042|h5<y |EE 62 125 4K 37 30
gL Hig 167|1% 37 0.14| 2% B 61 72| FIK 21 29
gRilTH Hig 167|1% 38 0.61| A% BfE 72 334| FlK 100 30
BRIl Hig 167|1% 391 03|7Hh<Y |BE 53 67| FK 20 30
BRIl Hig 167|1&  |39m 1.13| 3% HE 53 537| Flk 161 30
BRIl Hig 167|1& 40 066|h><Y |(EE 56 185 F4K 55 30
BRIl Hig 167(1% 41 0.62| 2% HE 60 317| Fk 95 30
BRIl Hig 1671 42 0.35| A% HE 60 179 F4K 53 30
BRIl Hig 167(1% 43 02|R¥ HE 72 109 F4k 32 29
gRiLT Hig 1671 44 1.23| ¥ HE 55 495| FI4K 148 30
BRIl Hig 167]1% 44 1.23| A¥ BHE 60 107| F4K 32 30
BRIl Him 1671 45 0.11| A% HE 71 60| F4K 18 30
BRIl Him 167|1% 46 0.12| A% HE 60 61 F4K 18 30
BRIl Him 167|1% 47 0.04| A% HE 60 20( FK 6 30
BRIl Him 1671 48 0.03| A% HE 60 15| K 4 27
BRIl Him 1671 50 0.1|R¥ HE 72 55 F4k 16 29
BRIl Hig 167|1& 51 0.06|h5<Y |(EE 67 19| 4K 5 26
BRIl Hig 167|1% 52 0.08|h5<Y |(EE 64 24| FK 7 29
BRIl Him 1671 53 0.1|R¥ BHE 60 26( F4K 7 27
BRIl Hig 1671 54 0.15| A% HE 62 77 FK 23 30




gRILT Hig 167|1% 55 031|h3<TY |EfE 67 9 Ftk 2 22
gRILT Him 167|1% 56 0.05| 2% HE 67 27 FK 8 30
gRILT Him 167|1% 57 0.08| 2% HE 65 42( F4K 12 29
gL Hig 167|1% 58 0.05|h5<Y |EfE 64 15| B4k 4 27
gL Hig 167|1% 59 0.07| A% HE 64 36 4K 10 28
gL Hig 167|1% 60 0.13| A% HE 67 69 4K 20 29
gL Hig 167|1% 61 04(h3<y |EfE 60 19 F4K 35 29
gL Hig 167|1% 62 0.19| A% HE 55 92 FI4K 27 29
BRIl Hig 167(1% 63 0.03| 2% HE 62 15| FlK 4 27
gRILT Hig 1671 64 0.06| 2% HE 59 30 FK 9 30
BRIl Hig 167(1% 65 0.04| 2% HE 59 20( F4K 6 30
gRiLT Hig 167(1% 66 0.16| A% HE 60 82( Fk 24 29
BRIl Hig 1671 67 0.03| 2% HE 62 15| FiK 4 27
BRIl Hig 167(1% 68 02|R¥ HE 55 97| FHHK 29 30
gl Hig 167|1& 691 0.02| R ¥ HE 60 10| FlK 3 30
BRIl Hig 167|1%  |69m 005|h5<Y |(EE 60 15| F4K 4 27
BRI HiR 167]1Z 1 0.37|R¥ BHE 62 189 F4K 56 30
gRiLT Hig 167(I1< 2 0.08| 2% HE 61 41 FK 12 29
BRIl Hig 1671 7 0.06| 2% HE 60 31| FK 9 29
gRiLT Hig 167|184 0.09| R¥ HE 75 50( F4K 15 30
gL Hig 167(I= |8 0.14|RF HE 46 60| F4K 18 30
gRilT Hig 167(I=  |9m 0.08| 2% HE 54 38( FK 11 29
BRIl Hig 167]1< 10 024|h5<Y |BiE 54 66| Flk 19 29
BRIl Hig 167(I1 11 0.1|R¥F BHE 60 51 F4k 15 29
gRilTH Hig 1671 13 044|h5<y |EE 57 125 F4K 37 30




gRILT Hig 1671 14 031|h3<TY |EfE 57 88 Fk 26 30
gRILT Him 1671 17 058|h5<y |EfE 65 181 F4k 54 30
gRILT Him 167[1=  |20n 0.18|h5<Y |EfE 59 53| Fk 15 28
gL Hig 167(I1< 21 011|h3<Ty |EfE 59 32( FK 9 28
R Hig 167]I< 23 055|h5<Y |(EfE 61 163 FK 48 29
R Hig 167]I< 28 005|h5<Y |(EfE 59 15| FK 4 27
) Hig 1671 29 0.19|h5<Y |EfE 59 56 F4K 16 29
R Hig 167]I< 31 045|h5<Y (BB 60 134 FK 40 30
BRIl Hig 167]1< 32 028|h5<Y |(EE 72 46| FK 13 28
BRIl Hig 1671 33 0.25| 2% HE 59 126 F4K 37 29
BRIl Hig 167|1=  |38m 0.06| R ¥ HE 57 30 FK 9 30
BRIl HiR 167|140 0.14|h5<Y (B 57 40| FK 12 30
BRIl Hig 1671 41 0.19| R¥ HE 58 95| F4k 28 29
BRIl HiR 167]1< 42 026|h5<Y |(Bi[E 64 77 FK 23 30
BRIl Hig 1671 43 0.06| 2% HE 67 32 FK 9 28
BRIl = 168|LY 1 077|h5<Y |(EE 62 68| Flk 20 29
BRIl = 168|LY 4 0.06|h5<Y |(EE 65 19| B4k 5 26
BRIl = 168|Ly  [5A 012(h5<Y |(EE 60 36| FK 10 28
BRIl = 168[Ly  |6m 0.1|R¥F HE 57 50| F4K 15 30
BRIl = 168|LY 7 026|h5<Y |(EE 60 39| FHK 11 28
BRIl = 168|LY 7 026|h5<Y |(EE 61 39| FHK 11 28
BRIl = 168|LY 8 0.16|h5<Y |(EE 60 24| FK 7 29
BRIl = 168|LY 8 0.16|h5<Y |(EE 61 24| FK 7 29
BRIl = 168[Ly 10 0.11|RF BHE 47 48( FK 14 29
gRilTH = 168[Ly 13 0.19|h5<y |EE 59 18] K 5 28




gRILT E 168[LY 14 0.21|RF BifE 77 118 4K 35 30
gRILT B 168[Ly 15 095|h5<Y |EfE 47 233| FK 69 30
gRILT B 168[Ly 16 0.05| X ¥ HE 77 28( 4K 8 29
R = 168|Ly 17 0.65(RF BHE 54 312 FIK 93 30
) = 168[Ly 184 01|h3<y |EfE 55 28( 4K 8 29
gRILTH = 168[Ly  |18m 0.06| 2% HE 55 29 4K 8 28
) = 168[Ly  |194 011|h3<Ty |EfE 55 30 FI4K 9 30
gRILTH = 168[Ly  |19m 0.06| 2% HE 55 29 4K 8 28
BRIl = 168[LY 20 02|R¥ HE 55 97| FHHK 29 30
BRIl = 168|LY 21 005|h5<Y |(EfE 60 15| FK 4 27
BRIl = 1685 14 035|h5<Y |(EfE 59 103 F4K 30 29
BRIl E 168|%5 |1m 0.24| R ¥ HE 59 121 FK 36 30
BRIl E 168|% 2 0.15| 2% HE 65 80[ Fk 24 30
BRIl E 168|% 3 0.18| A% HE 59 91| FK 27 30
BRIl = 168|% 4 0.05|h5<Y |(EE 67 16| 4K 4 25
BRIl E 168|% 6 0.1|R¥F HE 65 53| F4k 15 28
BRIl = 168|% 7 0.29| A% HE 60 148 F4k 44 30
BRIl E 168|% 9 0.3|R¥ HE 60 77| FHK 23 30
BRIl = 168|% 9 03|ho<TY |BE 60 45| FHK 13 29
BRIl B 168|% 10 0.06| 2% HE 67 32( FK 9 28
BRIl B 168|% 12 0.08| A% HE 69 42( K 12 29
BRIl B 168|% 13 0.09| A% HE 67 48( FK 14 29
BRIl B 168|% 14 0.06| 2% HE 69 32( FHK 9 28
BRIl = 1685 15 032(h5<Y |(EE 62 9| FK 2 22
gRilTH B 168|% 15 0.32| A% HE 64 148 F4k 44 30




gRILT E 168|% 16 0.28| A% HE 44 116 4K 34 29
gRILT E 168|% 17 0.13|R¥ HfE 60 66| F4K 19 29
gRILT E 168|% 19 0.02|h5<Y |EfE 69 6| 54K 1 17
R = 1685 |20 0.21|RF HE 55 102| F4K 30 29
gRILTH E 1685 23 0512 B[ 53 242( B4R 72 30
gL E 168|% 24 0.26| A% HE 60 92| FHK 27 29
gL E 168|% 24 0.26| A% HE 67 42( FHK 12 29
gL E 168|% 25 0.18| X¥F HE 62 92| FHK 27 29
BRIl = 1685 26 023|h5<Y |(EfE 60 68| Flk 20 29
BRIl = 1685 27 032(h5<Y |(EE 60 95 FItk 28 29
BRIl = 1685 28 017|h5<Y |(EE 60 50( Itk 15 30
BRIl E 168|% 29 0.99| A% HE 62 506| ZiltK 151 30
BRIl = 1685 31 043|h5<Y |(EE 59 126 F4K 37 29
BRIl = 1685 32 098|h5<Y |(EfE 60 291 B4k 87 30
BRIl = 168|% 40 024|h5<Y |(EE 60 71| FK 21 30
BRIl E 168|% 42 0.33| A% HE 55 160( F4k 48 30
BRIl = 168|% 43 03|ho<Y |BE 62 83| FK 24 29
BRIl E 168|% 44 0.16| A% HE 52 53| F4k 15 28
BRIl = 168|% 45 0.16|h><Y |(EE 62 48| FHK 14 29
BRIl N 1681 1 1.33| R ¥ HE 72 728| FlK 218 30
BRIl N 1681 2 0.14|h5<y |EE 60 42( K 12 29
BRIl N 1681 3 0.08| A% HE 60 41 FK 12 29
BRIl N 1681 4 0.58|h5<y |EE 60 172 F4K 51 30
BRIl PN 1681 5 0.64|h5<y |EE 63 190 F4k 57 30
gRilTH N 168|1% 7 0.03| A% HE 63 15| K 4 27




BRIl N 168|1% 8 0.14| A% HfE 77 78| FHK 23 29
gRILT N 168|1% 12 0.07|h3<Y |EfE 72 23 FK 6 26
gRILT N 168|1% 14 01|h3<y |EfE 62 30 %K 9 30
R xE 168]1% 15 04|h7<TY |BEE 64 119 FK 35 29
) P = 168|I& |16m 001|h5<Y |EfE 64 3| K 1 30
) P = 168|1% 18 017|h3<Y |EfE 66 53 FI4K 15 28
) P = 168|I1= 1 023|h5<Y |EfE 56 65 4K 19 29
) P = 168[I= |24 023|h5<Y |EE 57 66( 4K 19 29
BRIl N 168[1= |54 0.11|RF HE 47 48( FK 14 29
BRIl N 168|1z |74 0.11|RF HE 55 53| F4k 15 28
BRIl PN 1688|1104 0.1|R¥F HE 62 51 B4k 15 29
BRIl N 168|114 0.18| A¥F HE 60 46( FK 13 28
BRIl N 168|1=  |144 0.12|RF HE 60 31 FK 9 29
BRIl PN 1688|1154 0.12|RF HE 63 31| FK 9 29
BRIl N 1688|1154 0.12|h5<y |EE 63 18] FltK 5 28
BRIl N 168|1= |18 044|h><y |EE 54 38 FK 11 29
BRIl N 168|1= 19 0.22|R¥F HE 42 44 FHK 13 30
BRIl PN 168|(< 27 0.09|h5<Y |(EfE 63 27| FAK 8 30
BRIl PN 168|(< 28 011|A5<Y |(EE 63 33| FK 9 27
BRIl N 168|1= 29 017|h3<y |EE 57 48( FK 14 29
BRIl N 168|1= 30 017|h3<y |EE 55 47( FK 14 30
BRIl N 168|1= 31 0.15| 2% HE 55 73| FHHK 21 29
BRIl N 168|1= 33 0.12|h5<y |EE 64 36( FK 10 28
BRIl N 168|1= 35 0.12|RF BHE 65 32 FK 9 28
gRilTH N 168|1= 35 0.12|h5<y |EE 65 19| K 5 26




gRILTH XE 168 37 0.15|h5<y |EE 67 47| F4R 14 30
gRILTH XE 168 39 0.18| 2% HfE 64 92| F4R 27 29
gRILTH XE 168 40 0.34| 2% BifE 67 181| F4R 54 30
) P = 168|I1= 43 0.93| X ¥ HE 70 509| Flk 152 30
) P = 168|I1= 44 0.22| R¥ HE 72 120 %4k 36 30
) P = 168|I1= 46 0.63| ¥ HE 70 345| FlK 103 30
) P = 168|I1= 47 0.14| R ¥ HE 67 74 FK 22 30
) P = 168|I1= 48 0.18| X¥F HE 58 90( FI4K 27 30
BRIl N 168|1= 49 0.12|RF HE 77 67| FK 20 30
BRIl N 168|1= 51 0.15|XF HE 66 80[ Fk 24 30
BRIl PN 168|(Z 56 013|h5<Y |(EE 77 44| FK 13 30
BRIl N 168|1= 60 0.11|RF HE 64 56 F4K 16 29
BRIl N 168|1= 61 0.12|RF HE 53 57 F4K 17 30
BRIl N 168|1= 62 0.1|R¥ HE 77 56 F4K 16 29
BRIl PN 168|(< 65 011|A5<Y |(EE 57 31| FAK 9 29
BRIl N 168[1Z |1A 0.05|RF HE 72 27| FK 8 30
BRIl N 168|I1F 3 0.23| A% HE 69 122 F4K 36 30
BRIl N 168[1F |44 0.55|h5<y |EE 63 163 F4K 48 29
BRIl N 168|I1F 5 0.22| A% HE 69 17| FHK 35 30
BRIl N 168[1% |64 02(h3<y |EifE 69 62| FiK 18 29
BRIl N 168|1Z |61 0.04|h5<y |EE 69 12| FK 3 25
BRIl N 168[1Z  |8A 0.13|h5<y |EE 69 28( FK 8 29
BRIl N 168[1F |91 0.22|R¥F HE 57 109 4K 32 29
BRIl PN 168|I1F 11 0.06|h5<y |EE 70 20( F4K 6 30
gRilTH N 168|I1F 14 025|h5<y |EE 64 74| K 22 30




gRILTH 168 17 0.11|A5<Y 67 34| FHK 10 29
gRILTH 168 184 0.12|H5<Y 57 34| FHK 10 29
gRILTH 168 180 0.18| A% 57 89| FK 26 29
R 168 194 0.43| R ¥ 55 209( 4K 62 30
R 168 191 0.25(RF 57 124] FK 37 30
R 168 19= 0.13[A5<Y 55 36| FK 10 28
R 168 214 0.12|R¥F 55 58( Itk 17 29
gL 168 210 0.13[A5<Y 67 41 FHK 12 29
BRIl 168 21= 0.02(A5<Y 55 6| FK 1 17
BRIl 168 25 0.35|A5<Y 66 109 F4K 32 29
BRIl 168 290 0.18(7H<Y 62 32 4K 9 28
BRIl 168 32 0.09| R ¥ 72 13| B4k 3 23
BRIl 168 41 0.54|H5<Y 42 120| F4K 36 30
R Hig 169 1 1.69| A 60 864| Flk 259 30
R Hig 169 2 0.27|x% 52 127| B4R 38 30
BRIl Hig 169 3 0.36|h5<Y 79 121] FK 36 30
R Hig 169 5 0.62| 2% 47 270| FK 81 30
BRIl Hig 169 64 1.39| R ¥ 44 724| FK 217 30
BRIl HiR 169 6 0.77|R¥ 47 424 Bk 127 30
BRIl Hig 169 61\ 1.83|R¥F 50 1050( B4k 315 30
BRIl HiR 169 6= 1.38| RA¥ 57 683| FIl4K 204 30
gRILTH Hig 169 67k 1.13| R ¥ 51 657| FlIK 197 30
BRIl Hig 169 7 25|R¥F 42 990 FI4k 297 30
BRIl HiR 169 154 0.97|R¥ 43 282( Ftk 84 30
BRIl Hig 169 150 0.12|R¥ 43 49( 4K 14 29




gRILT Hig 169(Ly 16 0.49| R HE 43 198( %K 59 30
gRILT Him 169(Ly 17 1.29| 2% HE 42 511] ik 153 30
gRILT Him 169(Ly 18 0.71|R¥F BifE 63 363| Flk 108 30
gL Hig 169|Ly 19 046|h><Y |(EE 57 131 FK 39 30
R Hig 169|% 1 047|h5<Y |(EE 74 153 FK 45 29
gL Hig 169|% 2 032|h5<Y |EE 73 104 4K 31 30
gL Hig 169|% |34 0.14| R ¥ HE 73 77 FK 23 30
BRIl Hig 169(%  |3m 0.1|R¥F BfE 73 55 B4k 16 29
BRIl Hig 169|% 4 056|h5<Y (B 72 183 FK 54 30
BRIl Hig 169|% 5 1.7|RF HE 71 930| Flk 279 30
BRIl Hig 169|% 6 0.63| A% HE 72 345 Flk 103 30
BRIl Hig 169|% 7 0.29| A% HE 72 122 F4K 36 30
BRIl Hig 169|% |84 1.15( 2% HE 70 629| Fk 188 30
BRIl Hig 169|%5  |8m 1.15| X% HE 70 629| Flk 188 30
gRiLT Hig 169|% |91 227|A¥F HE 69 964| FlltK 289 30
BRIl Him 169|%»  |9A 0.04| R ¥ HE 69 17| FUK 5 29
BRIl Him 169|% 10 1.39|R¥ HE 61 710| Bk 213 30
BRIl Him 169|% 11 0.82| A% HE 69 435 FK 130 30
gRiLT Hig 169(1& 1A 1.13|R¥ HE 47 345| FlK 103 30
gRiLT Hig 169|1&  |1n 0.63| 2% HE 54 302| Fk 90 30
gRiLT Hig 1691 2 0.44| A% HE 56 216 54K 64 30
gRiLT Hig 1691 3 097| A% HE 59 490| F4K 147 30
BRIl Him 1691 5 0.36| A% HE 61 184 F4K 55 30
gRiLT Hig 1691 |14 6.11|R¥F BHE 63 3122 B4k 936 30
BRIl Hig 169](< 2 092|h5<Y |(BiE 64 273 Fk 81 30
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